Education Consultant India Ltd.

Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Question Paper Name : PGT Computer Sciecne -Male
Subject Name : PGT-Computer Science (Male)
Creation Date : 2021-07-11 13:23:35
Duration : 180

Total Marks : 300

Display Marks: Yes

Calculator : None

Magnifying Glass Required? : No

Ruler Required? : No

Eraser Required? : No

Scratch Pad Required? : No

Rough Sketch/Notepad Required? : No

Protractor Required? : No

Show Watermark on Console? : Yes

Highlighter : No

Auto Save on Console? ( SA type of questions will be always auto saved ) : No

Mental Ability
Group Number : 1
Group Id : 27522831
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Mental Ability
Section Id : 27522831
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 27522835
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2752281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. Creedal
2. Cremini
3. Cremate
4. Creator
5. Crested

Options :

1. # 41352
2. % 43125
3. ¥ 41325



4. % 43152

Question Number : 1 Question Id : 2752281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. Creedal
2. Cremini
3. Cremate

4. Creator
5. Crested

Options :

1. % 41352
2. % 43125
3. ¥ 41325
4. % 43152

Question Number : 2 Question Id : 2752282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

MORL, PKNI, SGJF, VCEC, YYBZ
Options :

1. ®* SGJF

2. % MORL

3. % YYBZ

4. ¥ VCEC

Question Number : 2 Question Id : 2752282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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MORL, PKNI, SGJF, VCEC, YYBZ
Options :

1. % SGJF

2. % MORL

3. % YYBZ

4. ¥ VCEC

Question Number : 3 Question Id : 2752283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. % AJ-CL
2. % RF-TH
3. ¥ KP - MN
4. % TL-VN

Question Number : 3 Question Id : 2752283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % AJ-CL

2. % RF-TH

3. KP - MN

4. % TL-VN

Question Number : 4 Question Id : 2752284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related words from the given alternatives.

Saw : Carpenter :: Knife : ?
Options :

1. ¥ Chef

2. # Restaurant

3. % Waiter

4. # Plate

Question Number : 4 Question Id : 2752284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ qIadl
2. % YISHea
3. % dR

4. % Wc

Question Number : 5 Question Id : 2752285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

GRDP : YLYM :: ?
Options :

1. # TRAP : WIYZ
2. % MONT : CUVS
3. ¥ LNJP: YRUR
4. % STRV : BBZY



Question Number : 5 Question Id : 2752285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o fau e fawed! & 4 defia siek g o1 gl

GRDP : YLYM :: ?
Options :

1. ¥ TRAP: WIYZ
2. % MONT : CUVS
3. % LNJP: YRUR
4. % STRV : BBZY

Question Number : 6 Question Id : 2752286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘GRASP’ is written as ‘11826920°, ‘MONT” is written as ‘7131214°. What is the code for ‘TRIPY" in that code
language?

Options :

1. ¥ 2111897

2. % 2118197

3. % 2118917

4, % 21111897

Question Number : 6 Question Id : 2752286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR BIS YW H, ‘GRASP’ B 11826920’ foRaT AT &, ‘MONT” Bl 7131214 T SITAT 1 39 HIS UTWT H “TRIPY” BT IS T 52
Options :

1. ¥ 2111897

2. % 2118197

3. % 2118917



4. %= 21111897

Question Number : 7 Question Id : 2752287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Price of five cars A, L, J, M and T are compared. Price of A is the least. No two cars have the same price. Price of J is less than T, L and M. Price
of neither T nor L is the highest. Price of T is less than L. Price of how many cars is less than the price of L?

Options :
1. %2
2.¥3
3.% 4
4. % 1

Question Number : 7 Question Id : 2752287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %2

2.9¥3

3.% 4

4. % 1

Question Number : 8 Question Id : 2752288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A group of four teachers is to be formed from amongst seven teachers T1, T2, T3, T4, TS, T6 and T7. Either T1 or T2 should be selected with
T5. T4 and T7 cannot be selected together. Either T3 or T6 should be selected with T2. Either T7 or T5 should be selected with T6. Who among
the following may be selected?

Options :
1. % T3, T1, T4 and T6
2. % T2, T5,T6 and T7



3. ¢ T2, T4, T5 and T6
4. % T1,T4, TS5 and T7

Question Number : 8 Question Id : 2752288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 &l T1, T2, T3, T4, T5, T6 OUT T7 H I IR Re&ieh| &1 U T ST ST g1 AT AN T1 T T2 B TS & 1Y AT S A1RE | T4 Tl
T7 1 1Y T T T O Tebell g | T T3 TT T6 B T2 & TIY AT ST AT AT AN T7 1 TS Dl Te o A1y AT ST =nfee | Fafafaa 7 @
{8 T Sl el 52

Options :

1. ® T3, T1, T4 QYT T6

2. % T2, T5, T6 AUT T7

3. T2, T4, T5 AUT T6

4. % T1, T4, T5 QU T7

Question Number : 9 Question Id : 2752289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A + B means A is father of B. A — B means A is son of B. A x B means A is mother of B. A + B means A is sister of B. Which of the following
means N is grandson of Q?

Options :

I.# J=-N+M-Q

2.¥ N-M-Q

3.8 Q+M+N=+]J

4, # P+J+N-M=+Q

Question Number : 9 Question Id : 2752289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A+BHTIIABHITUARIA - BHIHTA, BB TARIAxBHTAHSA, BHIAMIGI A+ BH A, BHI g ¢l Fufieaa d 9
forge 3f B b N, Q BT UNAT B2

Options :



1.®¥J+=N+M-Q
2.¥N-M-Q

3.2 Q+M+N=+]

4, EP+]J+N-M=+Q

Question Number : 10 Question Id : 27522810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some W are K.
II. No J are W.

Conclusions:
I. Some J are W.
II. Some K are not J.

Options :

1. # Only conclusion I follows

2. % Only conclusion II follows

3. % Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 10 Question Id : 27522810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHad FpY | SFIER0T Rl §

2. ¢ I DY 11 SRV BT §

3. % GFI FsHY 1 a7 11 SR vd &
4. % I3 U FTSHY IR0 T8I HRaT @

Question Number : 11 Question Id : 27522811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All cat are beautiful.
II. No peacock is cat.

Conclusions:

I. All beautiful are cat.

II. All peacock are beautiful.
III. All cat are peacock.

Options :

1. # Only conclusion I follows

2. ¥ Neither conclusion follows

3. # Both conclusions II and III follows

4. % All conclusion follows

Question Number : 11 Question Id : 27522811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # $Had [5HY [ 3IERU Hdl §

2. v DY i P SRy T T @
3. % G (ISR Y 11 TUT 111 SRR Hd §
4. % uft freem e SR AR §

Question Number : 12 Question Id : 27522812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four number pairs are given. The number on left side of (—) is related to the number of the right side of (—) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. % 47121
2. % 53-88
3. % 83-121
4. % 79-172

Question Number : 12 Question Id : 27522812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 47 -121
2. % 53-88
3. % 83121
4. ¥ 79172

Question Number : 13 Question Id : 27522813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

49 @ 13#26=98AUTST# 13 @ 247 =38, A 46 @23 #3 =2
Options :

1. * 8

2. % 12

3. % 26

4. ¥ 6

Question Number : 13 Question Id : 27522813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If49 @ 13#26=98 and 57 # 13 (@ 247 =3, then 46 @ 23 #3 =7
Options :

1. % 8

2. % 12

3. % 26

4. ¥ 6

Question Number : 14 Question Id : 27522814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many tyre are bike and car both?



Options :
1. % 7
2. % 13
3.¥ 4
4. %9

Question Number : 14 Question Id : 27522814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fhd TR, 915 dUT HR G 82

Options :
1. %7
2. %13



3.¥ 4
4.%9

Question Number : 15 Question Id : 27522815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the letter-cluster that does NOT belong to the following series.

BCDE, CEGI, DGIM, EIMQ, FKPU
Options :

1. # CEGI

2. ¥ DGIM

3. ®* EIMQ

4. % FKPU

Question Number : 15 Question Id : 27522815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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BCDE, CEGI, DGIM, EIMQ, FKPU
Options :

1. ®* CEGI

2. ¥ DGIM

3. * EIMQ

4. % FKPU

Question Number : 16 Question Id : 27522816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Poonam walks 20 km towards north. She turns right and walks 12 km. She turns left and walks 24 km. She turns right and walks 36 km. She
finally rotates by an angle of 90 degrees in clockwise direction and walks 24 km. How far and in which direction is her starting point from the
finishing point?



Options :

1. ® 46 km, North-east
2. ¥ 52 km, South-west
3. # 52 km, North-east
4. # 46 km, South-west

Question Number : 16 Question Id : 27522816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 46 fHH, IR-Td

2. ¢ 52 fop 1t afémr.afm

3. % s fop i, STR-g@

4. % 46 fp 1, ferorafgm

Question Number : 17 Question Id : 27522817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shweta is facing towards north-east. She rotates by 45 degrees in anticlockwise direction. She again rotates by 135 degrees in clockwise
direction. In which direction is she facing now?

Options :

1. ¥ South-east
2. # South-west
3. % South

4. ¥ West

Question Number : 17 Question Id : 27522817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ afaur.gd

2. % TIEULUiEy

3. % gigm

4. % i3y

Question Number : 18 Question Id : 27522818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figure on the right of (::) from the given
alternatives based on the same logic/rule/relation.

ot %::op JE

3.¢

[@)




Question Number : 18 Question Id : 27522818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. %
2. %
3.¢

[@)

Question Number : 19 Question Id : 27522819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when



opened?

3.¢ &

Question Number : 19 Question Id : 27522819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 P Uy Splag! B faETT SFUR SIS &l HIgHR e qUT e & dTe 8 b IR Mo St fewag o

B ol I Y




Options :

Question Number : 20 Question Id : 27522820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By folding the given paper, which of the following cube(s) cannot be made?



Al44]| 3
91812
<> <> <>
g &) Wl e
1 n m I

Options :

1. % 1,1l and 111
2. % Il and III
3. % Only III

4. 1, land IV

Question Number : 20 Question Id : 27522820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 1, I dUTIII
2. % [1dYTHI



3. % Had III

4, ¢ L IIdYT IV
General Awareness
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Show Attended Group? : No
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Question Number : 21 Question Id : 27522821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Mohiniattam belongs to which state?
Options :

1. ¥ Kerala

2. % Goa

3. # QOdisha

4. # Telangana

Question Number : 21 Question Id : 27522821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hig-tereH I ¥ Ao J Tefd 82
Options :

]. ¢ DR

2. % AT

3. % 3fifswm

4. % QTRTHT

Question Number : 22 Question Id : 27522822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following monument(s) is/are located in Gujarat?

I. Dhoraji fort
II. Zinzuwada fort

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 22 Question Id : 27522822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad # ¥ o 918 ¥R ToR1d § fR¥d 3/8?

I. eRTSi fa
11. fiefarst faran

Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 AU Gl
4. % 1A 1

Question Number : 23 Question Id : 27522823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a Direct tax?

I. GST
II. Wealth tax
I11. Gift tax

Options :

1. % Only I

2. % Il and IIT
3. % Tand II

4, % 1, 1I and III

Question Number : 23 Question Id : 27522823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Had 1

2. % I dYTII

3. % [qUT Ml
4, % [, I dYT I

Question Number : 24 Question Id : 27522824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are NOT true regarding Marginal Standing Facility (MSF)?

I. The MSF rate plays no role in determining the corridor for the daily movement in the weighted average call money rate.
II. MSF rate has no effect on policy repo rate.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 24 Question Id : 27522824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had I

2. % Had Il

3. QYT 11 gl
4. % qIALATANI



Question Number : 25 Question Id : 27522825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

No medium is required for transfer of heat by
Options :

1. # conduction

2. # convection

3. % radiation

4. % both convection and radiation

Question Number : 25 Question Id : 27522825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS & IRl & forg foedlt Hrens &t Sazgehdr el aidl |
Options :

1. % el

2. % Hagd

3. ¢ fafror

4. % Hag a1 fafe=or gl

Question Number : 26 Question Id : 27522826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an equation of uniform acceleration?
Options :

l.¥ v=u+at

2. % yv+u=at

3. % va=ut

4. % y=ut+a

Question Number : 26 Question Id : 27522826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
P It R THTH @Rl Dl 62
Options :

l.¥ v=u+at

2. % yv+u=at

3. % va=ut

4. % y=ut+a

Question Number : 27 Question Id : 27522827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is correct?

I. Amoeba — Protozoa
II. Bread Mold — Fungus

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 27 Question Id : 27522827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. 3HET — Uiersna
1. 5§ HIcS - HdPH

Options :

1. % Had 1

2. % Had Il

3. ¥ 1QUT I gAY



4. % ATEIIATSIII

Question Number : 28 Question Id : 27522828 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Options :
1. % dedy
2. ¢ faud
3. % 94
4. %9

Question Number : 28 Question Id : 27522828 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

As the river enters the plain it twists and turns forming large bends known as

Options :

1. # Levees
2. ¥ Meander
3. % Ox bow
4. % U

Question Number : 29 Question Id : 27522829 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. Exosphere is the upper most layer of atmosphere.
II. Thermosphere extends between 80 — 400 km.

Options :
1. % Only I
2. % Only II

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



3.4 BothIand II
4. % Neither [ nor 11

Question Number : 29 Question Id : 27522829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & 9 & 91 YT 9et 22

. SiEHSd, IgHSd 3! Jod SR RA 3
I1. STel aRgHS 80 — 400 5. 7. I Hen B
Options :

1. % $Had

2. % Had II

3. ¢ 1 AUT I

4. % AIAIAE I

Question Number : 30 Question Id : 27522830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a tributary of Ganga?

I. Chambal
II. Betwa
II1. Gandak

Options :

1. # Iand II

2. % Il and III
3. % Tand III

4. % 1, Il and III

Question Number : 30 Question Id : 27522830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Frfied & Q &1 O T B U Igiad el 87

NG|

1L S

1. TTsh
Options :

1. % 1dUT
2. % I dYUTIII
3. % 1dYTIII

4. 1 11 dYT 1T

Question Number : 31 Question Id : 27522831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where did the inscriptions were written?
Options :

1. ¥ Stone

2. # Palm leaf

3. # Paper

4. % Cloth

Question Number : 31 Question Id : 27522831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3{feRE Hgl IR ford rd A2

Options :

1. ¥ TR

2. % dig Ud

3. % DI

4, % HUSI



Question Number : 32 Question Id : 27522832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

I. The Nawab of Awadh was forced to give over half of his territory to the Company in 1807.
II. Third Anglo-Maratha war was fought during 1817-19.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 32 Question Id : 27522832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffed 3 3 &9 91/A HUF 98 8780

. 1807 34 & ~TATS DI ST YT FETDT HUT DI Fo- TR HOIGR faat T |
1. FRRT SO-HR1ST g 1817-1819 & SGRTH AST 7|

Options :

1. % Had |

2. ¢ HAd I

3. % [ qUT I M
4. % qGIIATRIII

Question Number : 33 Question Id : 27522833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ruled in Delhi during 1206-1210.

Options :

1. # Raziyya

2. ¥ Qutbuddin Aybak



3. % Anangapal
4. # Shamsuddin Iltutmish

Question Number : 33 Question Id : 27522833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 faelt & 1206-1210 F SR M fawa AT
Options :
1. % fomn
2. ¥ $EIE I VD
3. % JFUTA

4. % YL Feqaf

Question Number : 34 Question Id : 27522834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been named ICC Men'’s player of the month for March 2021?
Options :

1. # Rohit Sharma

2. % Rishabh Pant

3. % Bhuvaneshwar Kumar

4. ¥ Virat Kohli

Question Number : 34 Question Id : 27522834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 2021 & fore ford o 3t 3. g Ryarst $ifs iy & fag Amifed favar mar g2

Options :

1. % qfed THf

2. % Ruy gd
3. ¢ YIA%R HHR



4. % favre Pigdl

Question Number : 35 Question Id : 27522835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was written the book “What Went Wrong and Why”?
Options :

1. # Shashi Tharoor

2. ¥ Kiran Bedi

3. % MIJ Akbar

4. # Jaswant Singh

Question Number : 35 Question Id : 27522835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“gTe de I UUs I e fpam forddt 2
Options :

1. % IR YR

2. ¢ faur ot

3. % THY. 3R

4. % Sdd Rig

Question Number : 36 Question Id : 27522836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What type of missile is Phython 5 (developed by DRDO)?
Options :

1. ¥ Air to Air

2. % Airto Land

3. % Land to Air

4. % Land to Land



Question Number : 36 Question Id : 27522836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 5 s d g UeR @1 82 (S).3R.21.8i. gry fAfifa)
Options :

1. ¥ gard gdl

2. % a1 4 gl

3. % gl g gar

4. % gl 9 gl

Question Number : 37 Question Id : 27522837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related with bar to interference by courts in electoral matter?
Options :

1. ¥ 329

2. % 341

3. % 312

4, % 335

Question Number : 37 Question Id : 27522837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR WA BT DI AT fase Hara Gt Adl & A-e & &y & do 9 Jaidd g2
Options :

1. ¥ 329

2. % 341

3. % 312

4. % 335




Question Number : 38 Question Id : 27522838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which amendment of Indian constitution abolished the election tribunals?
Options :

1. ® 16

2.9 19

3. % 11

4. % 25

Question Number : 38 Question Id : 27522838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR T & 19 J FRed 3 A1d SAfIHv & IHe J Jaufa 22
Options :

1. ® 16

2.¥ 19

3. % 11

4. % 25

Question Number : 39 Question Id : 27522839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who won the ICC Under19 World Cup 2020?
Options :

1. ¥ Bangladesh

2. * India

3. % Australia

4. * England

Question Number : 39 Question Id : 27522839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

31514t 3iex19 fbdbe fay Y 2020 forem Sitar
Options :

1. ¢ SRR

2. % HYRd

3. % 3fiecfer

4. % 8

Question Number : 40 Question Id : 27522840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of sportsperson — sports is correct?

I. Shabbir Ali — Football
II. Mohammad Abbas — Boxing

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 40 Question Id : 27522840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRaeTS! - Wd &1 Fafeiad & 3 oI 91 g 9g 82

1. TSR 3fcil - pedrd
1. GEG STy — IR
Options :

1. ¢ Had |
2. % BHad 11
3, % [qUT I el




4. % qTEIIATSII

Arithmetic Ability

Group Number : 3

Group Id : 27522833
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 27522833
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 27522837
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 27522841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of 0.1 x 0.02 — 0.01 x 0.04?



Options :

1. * 0.0002
2. % 0.016
3.90.0016
4. % 0.002

Question Number : 41 Question Id : 27522841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
0.1 x 0.02 — 0.01 x 0.04 T HI T 52
Options :

1. # 0.0002

2. % 0.016

3.40.0016

4. % 0.002

Question Number : 42 Question Id : 27522842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If IN3N is a four digit number and it is divisible by 11, then what is the value of N?
Options :

1. %0

2.9 2

3.%9

4. % 5

Question Number : 42 Question Id : 27522842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I IN3N U IR 3fhl 1 I 8 qUT A 11 Y TIHIord gieit 8, dl N 1 | T 52
Options :

1.*0



2.2
3.0
4. %5

Question Number : 43 Question Id : 27522843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the product of Least Common Multiple and Highest Common Factor of 3200 and 12507
Options :

1. % 21 x52

2. % 25x 53

3. % 28 x 54

4. ¢ 28 x 56

Question Number : 43 Question Id : 27522843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3200 TYUT 1250 & TYTH GHITH DT TYT HETH GHIGI S b1 TUFH T g2
Options :

1. % 2l x 52

2. % 25 %53

3. % 28 x 54

4.+ 28 % 56

Question Number : 44 Question Id : 27522844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3TN =24 24l TS 34
2500 +625+22 540

What is the value of

Options :



136
. 12

247

Question Number : 44 Question Id : 27522844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3700 +24x12+17x5+34
2500 +625+22 +5x40
Options :

247
1. % E

& AT T 87

157
12

136
;% 12



247

Question Number : 45 Question Id : 27522845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Among the following which is the smallest fraction™

34sandi

45w 13
Options :
3
L® 4

La |

(98]
<
o | o

Question Number : 45 Question Id : 27522845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Teatoiiad #§ ¥ @i o1 9o a9 8ier 67

1S en 2
51 13
Options :
3

L® 4

3
4:'

4
5

2. %

o | o

3.¢

6
4w 13

Question Number : 46 Question Id : 27522846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the average of 168, 234, 286, 112 and 280?
Options :

1. ¥ 216

2. % 220

3. % 210

4. % 206

Question Number : 46 Question Id : 27522846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



168, 234, 286, 112 dUT 280 T 3TTd &1 82
Options :
1. 216
2. % 220
3. %210
4. % 206

Question Number : 47 Question Id : 27522847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If K percent of K percent of 4000 = 90, then what is the value of K?
Options :

1.¥ 15

2. % 30

3.% 75

4, % 225

Question Number : 47 Question Id : 27522847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 4000 & K TFRIA &1 K TA=Id = 90 &, T K HT HH &1 52
Options :

1.¥ 15

2. % 30

3.% 75

4. % 225

Question Number : 48 Question Id : 27522848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If 87.5 percent of A = 714, then what is the value of 37.5 percent of A?
Options :



1. # 300
2. % 302
3. ¥ 306
4. % 312

Question Number : 48 Question Id : 27522848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Al A B187.5 UIRId = 714 8, A A P 37.5 UTI=Td BT HIF T 82
Options :

1. * 300

2. % 302

3. ¥ 306

4. % 312

Question Number : 49 Question Id : 27522849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An article is sold for Rs. 3000 at a loss of 25 percent. What should be the selling price to gain 15 percent?
Options :

1. % 4400

2. % 4600

3. % 5000

4. % 4100

Question Number : 49 Question Id : 27522849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I B 25 UA=Td BT 8T TR 3000 ST & 9201 ST 8| 15 WA AT Ut - & o fasha Teg o g1 anfew?
Options :

1. % 4400

2. % 4600



3. % 5000
4. % 4100

Question Number : 50 Question Id : 27522850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IfP: Q=3:2, then what is the value of (P + Q) : (P — Q)?

Options :
1.¥5:1
2.% 6:1
3.% 4:5
4. % 4:1

Question Number : 50 Question Id : 27522850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR P:Q=3:28, M(P+Q): (P— Q) FITHATIZ?
Options :

1.¥5:1

2. % 6:1

3.% 4:5

4. % 4.1

Question Number : 51 Question Id : 27522851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bag contains 1 rupee, 50 paise and 25 paise coins. The value of 1 rupee, 50 paise and 25 paise coins are in the ratio of 5 : 2 : 3 respectively. If
total number of coins is 420, then what will be the total value of all coins?

Options :

1. ¥ Rs. 200
2. % Rs. 180
3. % Rs. 220



4. % Rs. 160

Question Number : 51 Question Id : 27522851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Ao H 1 Y3, 50 U 71 25 TH b Ryekb 81 1 3T, 50 UH U7 25 U & Ryefepl o 1o b1 SIUIT BA: 5 : 21 3 H 81 e Ryeepl 1 el
T/ 420 ®, O It Ryaen! &1 o Jeg 1 8

Options :

1. ¢ 200 30

2. % 180 3YY

3. % 220397

4. % 160 390

Question Number : 52 Question Id : 27522852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum becomes Rs. 16000 in 6 years on simple interest at the rate of 25 percent per annum. What is the total interest for the 6 years?
Options :

1. # Rs. 6000

2. % Rs. 9000

3. % Rs. 8400

4. ¥ Rs. 9600

Question Number : 52 Question Id : 27522852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T YR ST TR 25 Y= Uy 1 g F 6 a8 H 16000 T0 81 A € | 6 TS BT Hot ST fahaT 872
Options :

1. % 6000 3T

2. % 9000 TYY

3. % 8400 ¥UY



4. 9600 ST

Question Number : 53 Question Id : 27522853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B walks at a speed of 9 km/hr and 9 hours after his start, C starts on his cycle after him at the speed of 18 km/hr. How far from the starting point
will C catch B?

Options :

1. % 144 km
2. % 162 km
3. % 198 km
4. % 236 km

Question Number : 53 Question Id : 27522853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B, 9 fo5 #}./5i¢ &1 TIfq T TciaT @ IUT I RH B4 P 9 TS P UL, C 3101 I1sfpd F 18 {5 /4 o1 7fa ¥ 39 die Rpaar |
RIS fag T favaHit g IR €, B &l Udbg o2

Options :

1. % 144 fop 1.

2. ¢ 162 T 1t

3. % 198 fh .

4. % 236 fob 1.

Question Number : 54 Question Id : 27522854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

L. If downstream and upstream of a boat are 12 km/hr and 6 km/hr respectively, then what is the speed of boat in still water is 9 km/hr.
II. Length of train is 1200 meters. If it can cross a stationary pole in 10 seconds, the speed of train of train is 43.2 km/hr.

Options :
1. ¥ Only I



2. % Only II
3. % BothIandII
4. % Neither I nor 11

Question Number : 54 Question Id : 27522854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad § ¥ o9 91 Hy= I8 82

I. 1S U 19 &1 T URT & 3G d adT YRT & Ufagd sar: 12 fob 1t der aur 6 fos 1ft Aer g, a fRR ora & A1 ot 7ifd o fos i eer 31
I1. U YS! B T8 1200 Hiex g1 Ife 98 T FRR @ &1 10 YHUS H UR R bl 5, Al IAS! Bt 1M 43.2 fob 1t eier B

Options :

1. ¥ Had I

2. % Had I

3. % [T gl
4. % I

Question Number : 55 Question Id : 27522855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B together can do a work in 10 days. B and C together can do the same work in 12 days. If C alone can do the same work in 60 days, then
in how many days can A alone do the same work?

Options :

1. ¥ 30 days
2. # 45 days
3. # 20 days
4. % 60 days

Question Number : 55 Question Id : 27522855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A dYUT B FaeR U dRI B 10 R A R Thd €1 B aUT C s Rl Y 12 fed A sy Thd § 1 afe ¢ Srbar 53t arf b1 60 fe7 & R g




8, dl A 3Ibdl 39 BT B fha o H &R Ihal g2
Options :

1.+ 30 feq

2. % 45faq

3. % 20faT

4. % 60 faq

Question Number : 56 Question Id : 27522856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Surface area of a sphere is 5544 cm?. What will be the diameter of sphere?
Options :

1. ¥ 42 cm

2. % 21 cm

3. % 28 cm

4. % 35¢cm

Question Number : 56 Question Id : 27522856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TITal &1 81T &0 5544 9112 § 1 TIal &1 o 1 gt
Options :

1.v 4230

2. % 21 W

3. % 239

4. % 3594

Question Number : 57 Question Id : 27522857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Length, breadth and height of a cuboid are 30 cm, 30 cm and 15 cm respectively. What is the length of longest rod that can be placed in cuboid?



Options :

1. * 35cm
2. % 45 cm
3. % 60 cm
4. % 55cm

Question Number : 57 Question Id : 27522857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ITH & TS TSls dUT Hams HHTE: 30 A.H, 30 .. auT 15 AW g1 914 H W} 51 Ieb aTell Ja Tl ot ol dvaTs T gRi?
Options :

1. % 3590

2. ¢ 4591,

3. % 60 QAL

4. % 5594

Question Number : 58 Question Id : 27522858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the amount spent by a family on 6 articles. Amount spent on a particular article is shown as a percentage
amount spent on all these 6 articles.



10%

30%

Which of the following statement(s) is/are correct?
I. Total central angle formed by the sectors of A and C is 126 degrees.
I1. If the amount spent on E is 13200, then the total amount spent on B and F is 28800.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 58 Question Id : 27522858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= e T urs 91 U uRaR gRT 6 avgsit IR wd &t i A &l gxifar 8 1 v faRky axg R wd &t el i ol 51 ot 6 e R
Td o1 T pa IR & Ul & wu H gxfar T ||



10%
D
30%
fgfefad & ¥ o I/ U9 I8t 8/8?

I. A GYT C & WUS! gRT SR T Hd dbiod B 126 fSH R
I1. 9f¢ E IR W &1 0 MR 13200 7, A B TUTF TR WA D1 1A Ha AT 28800 & |

Options :

1. % PHadl
2. % Had Il
3. 1qUT ISl
4. % 1B

Question Number : 59 Question Id : 27522859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of shoes in 8 shops.



900
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R = Difference between the total number of shoes in S5 & S6 and the total number of shoes in S1 & S8.
T = Average number of shoes in S2, S4 and S5.
What is the value of R + T?

Options :
1. % 720
2. % 480
3. % 540
4. ¥ 600

Question Number : 59 Question Id : 27522859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- fear mar IR T 8 gHMI B Sl B = B gl B |




900

=1
[
=]
=1
=
]

460
340 350

400

S 82 83 S84 85 86 87T S8

R = S5 3R S6 T [l Pt Hol AT AUT S1 3R S8 H [l B! e AT b Hed B 3R |
T =S2, S4 YT S5 H S[dl &1 S T |

R + T &1 A T 82

Options :

1. % 720

2. % 480

3. % 540

4. ¥ 600

Question Number : 60 Question Id : 27522860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the cost price and selling price of 5 articles.



300 300 300
280
H0 240
190
140
120
100
A B C D E
B Cost price O Selling price

Profit amount = Selling price — Cost price

Loss amount = Cost price — Selling price

Profit percent/Loss percent = [(Profit/Loss)/Cost price] x 100
Which of the following statement(s) is/are not correct?

L. If the cost price of A and E gets interchanged, then there will be a loss of 24 percent on E.
II. Profit earned on D is 25 percent.

Options :

1. # Only I

2. % Only II

3. # BothIand II
4. % Neither I nor II

Question Number : 60 Question Id : 27522860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= fear o IR W 5 gt & O geg au Ay Jeg o) gufar ||




300 300

300
280
250 240
190
140
120
I—l )
C D

A B E
BFT {8 [ °wg 77

AT T = faehd ged — g gl
B IR = 8 G - fashy g
Y Ufrra/8T Ufarsrd = [(&H/8TR)/a gy x 100 Faffad # d &1 91/ sy 98 T8 8/
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Question Number : 61 Question Id : 27522861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Learning to identify birds (1)/ by their songs is so(2)/ much fun as spotting them by sight (3)/.No error(4)
Options :

1. * Learning to identify birds

2. ¥ by their songs is so

3. * much fun as spotting them by sight

4. % No error



Question Number : 61 Question Id : 27522861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Learning to identify birds (1)/ by their songs is so(2)/ much fun as spotting them by sight (3)/.No error(4)
Options :

1. % Learning to identify birds

2. ¥ by their songs is so

3. # much fun as spotting them by sight

4. % No error

Question Number : 62 Question Id : 27522862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

In the Mahabharata, even a distinguished (1)/ warrior like Arjuna became depressed (2)/ at the very thought of waging war (3)/. No error (4)
Options :

1. # In the Mahabharata, even a distinguished

2. # warrior like Arjuna became depressed

3. % at the very thought of waging war

4. ¥ No error

Question Number : 62 Question Id : 27522862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

In the Mahabharata, even a distinguished (1)/ warrior like Arjuna became depressed (2)/ at the very thought of waging war (3)/. No error (4)
Options :
1. # In the Mahabharata, even a distinguished

2. % warrior like Arjuna became depressed



3. % at the very thought of waging war
4. ¥ No error

Question Number : 63 Question Id : 27522863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The Indian team is expected to be selected on the end of this month.
Options :

1. ¥ by

2. % to

3. % in

4. % No Improvement

Question Number : 63 Question Id : 27522863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The Indian team is expected to be selected on the end of this month.
Options :

1. ¥ by

2. % to

3. % in

4. ¥ No Improvement

Question Number : 64 Question Id : 27522864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No



improvement.

The comfort the youngsters share with him will be an addition advantage.
Options :

1. % additional

2. % bonus

3. ¥ added

4. ¥ No Improvement

Question Number : 64 Question Id : 27522864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The comfort the youngsters share with him will be an addition advantage.

Options :

1. # additional
2. % bonus

3. % added

4. % No Improvement

Question Number : 65 Question Id : 27522865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He was sorry for his with the lady.
Options :

1. # freak

2. ¥ misconduct

3. # miscreant

4. % fortune



Question Number : 65 Question Id : 27522865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He was sorry for his with the lady.

Options :

1. * freak

2. ¥ misconduct
3. * miscreant

4. * fortune

Question Number : 66 Question Id : 27522866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

people face many issues with the advancement of technology.
Options :
1. # Oldest
2. * Anold
3. % Older
4. % Old

Question Number : 66 Question Id : 27522866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

people face many issues with the advancement of technology.
Options :
1. # Oldest



2. % Anold
3. % Older
4. % Old

Question Number : 67 Question Id : 27522867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Two species

P: Coffea Arabica and

Q: C. canephora, supply almost
R: of the coffee plant,

S: all of the world’s consumption

Options :

1. ¥ QPSR
2. % RPSQ
3. % QPRS
4. ¥ RPQS

Question Number : 67 Question Id : 27522867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Two species

P: Coffea Arabica and

Q: C. canephora, supply almost
R: of the coffee plant,

S: all of the world’s consumption

Options :

1. ¥ QPSR
2. % RPSQ
3. % QPRS



4. ¥ RPQS

Question Number : 68 Question Id : 27522868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: the Reformation and the ensuing wars of religion through

Q: based on contemporary political events

R: gave rise to many propagandistic and patriotic strips

S: the 17th century, particularly in Protestant Germany and the Netherlands,

Options :

1. ¥ PRSQ
2. % QRPS
3. % QRSP
4. ¥ PSRQ

Question Number : 68 Question Id : 27522868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: the Reformation and the ensuing wars of religion through

Q: based on contemporary political events

R: gave rise to many propagandistic and patriotic strips

S: the 17th century, particularly in Protestant Germany and the Netherlands,

Options :

1. ¥ PRSQ
2. % QRPS
3. % QRSP
4. ¥ PSRQ

Question Number : 69 Question Id : 27522869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Precious
Options :

1. # Simple
2. ¥ Valuable
3. % Waste

4. ¥ Necessary

Question Number : 69 Question Id : 27522869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Precious
Options :

1. # Simple
2. ¥ Valuable
3. % Waste

4. ¥ Necessary

Question Number : 70 Question Id : 27522870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Ascend
Options :

1. # Incline
2. % Upthurst
3. % Plunge
4. % Infamy



Question Number : 70 Question Id : 27522870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Ascend
Options :

1. # Incline
2. % Upthurst
3. ¥ Plunge
4. # Infamy

Question Number : 71 Question Id : 27522871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Retention

2. % Retantion

3. ¥ Reetention

4. % Reteention

Question Number : 71 Question Id : 27522871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Retention

2. # Retantion

3. ® Reetention

4, % Reteention



Question Number : 72 Question Id : 27522872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly spelt word.
Options :

1. # Creation

2. # Mistaken

3. ¥ Tampoline

4. % Concussion

Question Number : 72 Question Id : 27522872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is incorrectly spelt. Choose the incorrectly spelt word.
Options :

1. # Creation

2. # Mistaken

3. % Tampoline

4. % Concussion

Question Number : 73 Question Id : 27522873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

A bed of thorns

Options :

1. ¥ A very uncomfortable situation
2. # To weep heavily, suddenly

3. # To rain heavily

4. ¥ Unexpected misfortune



Question Number : 73 Question Id : 27522873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

A bed of thorns

Options :

1. ¥ A very uncomfortable situation
2. # To weep heavily, suddenly

3. % To rain heavily

4. ¥ Unexpected misfortune

Question Number : 74 Question Id : 27522874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To upset the apple cart

Options :

1. % To harass somebody

2. ¥ To throw all plans in confusion
3. # A clumsy person

4. % To be extremely enthusiastic over

Question Number : 74 Question Id : 27522874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To upset the apple cart
Options :

1. # To harass somebody



2. ¥ To throw all plans in confusion
3. % A clumsy person

4. # To be extremely enthusiastic over

Question Number : 75 Question Id : 27522875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A collection of poems
Options :

1. ¥ Anthology

2. % Ethology

3. # Entomology

4. % Palacology

Question Number : 75 Question Id : 27522875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A collection of poems
Options :

1. ¥ Anthology

2. % Ethology

3. # Entomology

4. % Palaeology

Sub-Section Number : 2
Sub-Section Id : 27522839
Question Shuffling Allowed : Yes

Question Id : 27522876 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No



Question Numbers : (76 to 80)
Read the following information carefully and answer the given questions.

Bioluminescence, emission of light by an organism or by a laboratory biochemical system derived from an organism. It could be the ghostly glow
of bacteria on decaying meat or fish, the shimmering radiance of protozoans in tropical seas, or the flickering signals of fireflies. The
phenomenon occurs sporadically in a wide range of protists and animals, from bacteria and fungi to insects, marine invertebrates, and fish, but it
is not known to exist naturally in true plants or in amphibians, reptiles, birds, or mammals.

Bioluminescence results from a chemical reaction (chemiluminescence) in which the conversion of chemical energy to radiant energy is direct
and virtually 100 percent efficient; i.e., very little heat is given off in the process. For that reason, the emission is called cold light or
luminescence.

The functional role of bioluminescence in lower organisms such as bacteria, dinoflagellates, and fungi is difficult to discern. Partly because the
glow of luminous bacteria is extinguished when oxygen is removed, it has been suggested that the bioluminescent reaction was originally used to
remove oxygen toxic to primitive types of bacteria that developed when oxygen was absent or very rare in Earth’s atmosphere. The metabolic
reaction that combines the oxygen with a reducing substance (luciferin) liberates sufficient energy to excite a molecule in the organism to emit
visible radiation. Most of those luminous primitive organisms subsequently developed systems of using oxygen, but they have retained the
luminescent capability as parts of related metabolic pathways or for some survival value that luminescence may confer on the organism.

Sub questions

Question Number : 76 Question Id : 27522877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What can be the suitable title for the passage?
Options :

1. ¥ What is Bioluminescence?

2. % Organisms and their light

3. % Role of bioluminescence

4. ¥ Why Bioluminescence?

Question Number : 77 Question Id : 27522878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why the functional role of bioluminescence in lower organisms is difficult to recognize?
Options :

1. % When oxygen is removed the bacteria is 17unable to survive.

2. ¥ The glow of bacteria blows out as soon as the oxygen is removed.

3. # Bacteria couldn’t find the sufficient energy in the absence of oxygen.



4. % Their luminescent capability wears off in the presence of oxygen.

Question Number : 78 Question Id : 27522879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words best expresses the true meaning of the word ‘confer’?
Options :

1. # Refuse

2. % Withhold

3. ¥ Consult

4. % Hold

Question Number : 79 Question Id : 27522880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which living entity, the bioluminescence is not known to exist?
Options :

1. # Fish

2. % Bacteria

3. # Fungi

4. ¥ Birds

Question Number : 80 Question Id : 27522881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which process is responsible for the emission of bioluminescence?

Options :

1. # Conversion of radiant energy to chemical energy directly and virtually.

2. ¥ Conversion of chemical energy to radiant energy directly with a release of a very little heat.
3. # Conversion of chemical energy to radiant energy indirectly with a lots of heat release.

4. % Conversion of radiant energy to chemical energy indirectly with a little heat release.



Question Id : 27522876 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (76 to 80)
Read the following information carefully and answer the given questions.

Bioluminescence, emission of light by an organism or by a laboratory biochemical system derived from an organism. It could be the ghostly glow
of bacteria on decaying meat or fish, the shimmering radiance of protozoans in tropical seas, or the flickering signals of fireflies. The
phenomenon occurs sporadically in a wide range of protists and animals, from bacteria and fungi to insects, marine invertebrates, and fish, but it
is not known to exist naturally in true plants or in amphibians, reptiles, birds, or mammals.

Bioluminescence results from a chemical reaction (chemiluminescence) in which the conversion of chemical energy to radiant energy is direct
and virtually 100 percent efficient; i.e., very little heat is given off in the process. For that reason, the emission is called cold light or
luminescence.

The functional role of bioluminescence in lower organisms such as bacteria, dinoflagellates, and fungi is difficult to discern. Partly because the
glow of luminous bacteria is extinguished when oxygen is removed, it has been suggested that the bioluminescent reaction was originally used to
remove oxygen toxic to primitive types of bacteria that developed when oxygen was absent or very rare in Earth’s atmosphere. The metabolic
reaction that combines the oxygen with a reducing substance (luciferin) liberates sufficient energy to excite a molecule in the organism to emit
visible radiation. Most of those luminous primitive organisms subsequently developed systems of using oxygen, but they have retained the
luminescent capability as parts of related metabolic pathways or for some survival value that luminescence may confer on the organism.

Sub questions

Question Number : 76 Question Id : 27522877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What can be the suitable title for the passage?
Options :

1. ¥ What is Bioluminescence?

2. % Organisms and their light

3. % Role of bioluminescence

4. ¥ Why Bioluminescence?

Question Number : 77 Question Id : 27522878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why the functional role of bioluminescence in lower organisms is difficult to recognize?
Options :

1. % When oxygen is removed the bacteria is 17unable to survive.



2. ¥ The glow of bacteria blows out as soon as the oxygen is removed.
3. % Bacteria couldn’t find the sufficient energy in the absence of oxygen.

4. # Their luminescent capability wears off in the presence of oxygen.

Question Number : 78 Question Id : 27522879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words best expresses the true meaning of the word ‘confer’?
Options :

1. #® Refuse

2. ¥ Withhold

3. ¥ Consult

4. ® Hold

Question Number : 79 Question Id : 27522880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which living entity, the bioluminescence is not known to exist?
Options :

1. # Fish

2. # Bacteria

3. # Fungi

4. ¥ Birds

Question Number : 80 Question Id : 27522881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which process is responsible for the emission of bioluminescence?

Options :

1. # Conversion of radiant energy to chemical energy directly and virtually.

2. ¥ Conversion of chemical energy to radiant energy directly with a release of a very little heat.
3. % Conversion of chemical energy to radiant energy indirectly with a lots of heat release.

4. ® Conversion of radiant energy to chemical energy indirectly with a little heat release.
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 27522882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T T4 X8 BT SUT I B |




Gdlcl
Options :
1. ® gd
2.¥ g
3.% dl
4. % qq

Question Number : 81 Question Id : 27522882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T T4 XsG T SUAT I B |

gdcll
Options :
1. % gd
2.¥ ¢
3. % dl
4. % qd

Question Number : 82 Question Id : 27522883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T TQ Wsg 1 Uy J1d HifSTT |

RTH
Options :
1% d
2. % [h
3. % 3b
4, ¢ 3D



Question Number : 82 Question Id : 27522883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T T Ieq; &1 YT T DI |

GRIED
Options :
1.%d
2. % h
3. % 3D
4. ¢ 3Hlh

Question Number : 83 Question Id : 27522884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou 71U rec] 3 Y fo=de I1d HIfoW|
gRIGAI D

Options :

1. ® G: + 3{delh
2. % T + 3dcih
3. ¢ O + fadidh
4. % TF: + XqaIp

Question Number : 83 Question Id : 27522884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e wrsat o) T fawde F1d Pl
PENCHICE

Options :
1. ® G: + 3dd b



2. % T + 3qadPb
3. ¥ OF: + 3@didp
4. Wg’:[:JrW

Question Number : 84 Question Id : 27522885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T ariRT o foTu I Wsg &1 99— HIfoT|

fSTI® T Bl gERT T 3l
Options :

1. % fgdrg

2. % BRI

3. ¢ 3fgdig

4. % JHeU-

Question Number : 84 Question Id : 27522885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7TQ arir & e I Weg &1 T P

o I% T ®Is IRIA I
Options :

1. % fgdia

2. % BRI

3. ¢ Sffgdi

4. % peuHrg

Question Number : 85 Question Id : 27522886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ProfifEd wee &1 yafgar 181 8§, J1d S



dus
Options :
1. % dlg
2. ¢ Y
3. % dir
4. % gdiq

Question Number : 85 Question Id : 27522886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Praffad gsg &1 yafgar 761 €, 31d S|
{I°ER

Options :
1. % dg
2. g4
3. % dH
4. % Udiy

Question Number : 86 Question Id : 27522887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 7T wrect § Qg Ikt BT TG BT

Options :

1. % FIH
2. % BN
3. ¢
4. % FHRY

Question Number : 86 Question Id : 27522887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T U Trsal A g Idt BT T HIf|
Options :

1. % o)

2. % Bk

3. ¢ B

4. % BRI

Question Number : 87 Question Id : 27522888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 77T g T o1 Ta! e T J1d HITOT|

316 H : 3eH
Options :

1. ¥ 3EPR : Hgayul
2. ¥ X : TR

3. % HBW%T

4. % Agdqul : 3R

Question Number : 87 Question Id : 27522888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T 1T Woc g 1 el Wsg i 1 BT |

SfeH : 3feH
Options :

1. ¢ 3EPR : AGaYUl
2. % QX 3THR

3. % W%T

4. % gAYl : 3T




Question Number : 88 Question Id : 27522889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foreTa 1 e g2

Options :

1. % foardt

2. % fodit

3. % foeri

4. ¢ faeit

Question Number : 88 Question Id : 27522889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faema &1 wifer g

Options :

1. % foerdl

2. % foait

3. % foeri

4. ¢ foedl

Question Number : 89 Question Id : 27522890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR 1 AT < DI I BRb &7
Options :

1. ¢ guaH

2. % 3{Ulald

3. % ol

4. % oHH



Question Number : 89 Question Id : 27522890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR 31 A & S T IR &2
Options :

1. ¢ guaH

2. % Uil

3. % ol

4. % oHH

Question Number : 90 Question Id : 27522891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad areil B 9 Y aTerd &1 o+ Diforu|
Options :

1. % gY@ A qSUET 8|

2. % JI Y@ A TSI 5|

3. ¥ 98 Y@ 4 dSUET 5|

4. % 98 Y A U I &

Question Number : 90 Question Id : 27522891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad are o ¥ < 916 &1 994 DI |
Options :

1. % 98 Y@ A U I &

2. % 31 Y@ H TSUBI 5|

3. ¢ 98 Y 4 ISUET ]|

4. % 98 Y& A ISUET 5|

Question Number : 91 Question Id : 27522892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafefad arel O @ WRd ar I1d P |

Options :

1. ¢ U SRYT g3 GWR §ed o Udh HebT | TRUT T |

2. % T U SR g3 ¢ 3R Th Hh & JROT Al

3. % O Bl S A U SR 3T <1 oY 81 U A H JRUT ol |
4. % g=I - HbT § IROT o s a8l U1 9= g7 T

Question Number : 91 Question Id : 27522892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad arel o @ R are J1d i |

Options :

1. ¢ O ST 31T G g - U HhT H TROT ot |

2. % §ad = U SRYT G ST 3R U b & TROI |

3. % SR g1 9= A U SR g3 &1 d¥ 81 U A § IRUT ol
4. % §= 9 UHMH H IRV & -ifb 981 T 999 8T T

Question Number : 92 Question Id : 27522893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1y © Iuged form fag &1 o= pifor|
98 B U T § SN 3MUD! 9gd TS &

Options :
1. % ;|

2.¢ |
3. % .

?

4. W “aal



Question Number : 92 Question Id : 27522893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1y © Iuged form fag &1 o pifor|
98 S U T § ST 3MMUD! 9gd TS &

Options :
1. % ;|
2.9 |

3. % -7

4. u GC”I

Question Number : 93 Question Id : 27522894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T gt T Iuged favm forg &1 994 Fifom|
T 3reatfepT 3 fius fpar gan Bl

Options :

1. % gl

2. * DIFD

3. % =

4. % <Ud

Question Number : 93 Question Id : 27522894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U 91’1 © Iuged form fag &1 == pifor|
Y sremfeT A Sivs fear g gl

Options :

1. % O®




2. % DIYH
3. % fdus

4. % <Ud

Question Number : 94 Question Id : 27522895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawmedl # 9, 39 fawed o1 9o 3 o1 {3 7T JeTrer & 31 &1 Jd9§ U I oJad Hral o |
3 ote &

Options :

1. % URYH BT
2. HiA

3. % DI g
4. % A BT

Question Number : 94 Question Id : 27522895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy &, fou U aR fawedl 8 9§, 39 fawed &1 999 o S faU 0 GgTak & 31 &1 a98 ¥9 ¥ ad Rl 5|
3131 T &

Options :

1. % OReH B
2. ¥ Bl g

3. % SIfYd gIHI
4. % QA HIAT

Question Number : 95 Question Id : 27522896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawedl § 9, 39 fawed o1 9o 3 o1 3T 70 JeTer & 3 &1 Jd9§ U ¥ oJad Hral o |




SERIRCEN

Options :

1. % Fg-AdgHR dId Bl
2. % GEI BTl

3. ® 3{UAT Hd

4. HATg

Question Number : 95 Question Id : 27522896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded &1 9o B3 ot f3T 7T gerer & 31 &1 a9y ¥U ¥ oJad HRal g |
ISl @R

Options :

1. % FG-IGPX dId Bl

2. % gl Il

3. % HUATHd

4. ¥ AHhdlg

Sub-Section Number : 2

Sub-Section Id : 27522841
Question Shuffling Allowed : Yes

Question Id : 27522897 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No

Question Numbers : (96 to 100)

TS T T T | IR O STYR WR Ui WY T 7Y € | I &1 e9Ydd U aul Ui Uy H 9R fawedl § ¥ Tgl faewed |

IR I H 3 Sfed THMIE § S S & fadbr H a1 s Hal & | S-aed gig W Sx o) 35 sifee awnsii § 9 U g | o
oy B o & T YR T A SEEAT ITeT =1 8 | TR R 1 & gHR =1 bt S §g Xe 8, fa ot @R 1 o g SR b
SEREAT T & i 31 Bl ST | AR ST i B AR b1 3 A A AR S Yebdll & fob Taciadll YTt & Ui A UTd aRiep] §
Tg 33 TS F 100 PRIS & HHS B IR FR TS ¢ | o H S 3G & 3! HRUI§ | 39 Sfafad fAean, siren, wiearfaar aur




Gp1vl faaR Sfe SHeReAT 9fg & UHE HRUT B | oX H S1d-fda1g &1 U1 UrediF 1d 3 o, fories therawy 1t seeien 1 gfg g3 |
1 BT 3rHTa off SR Ifs 1 Th T HRUT 6 | o= H ST Gl B THRT 37191 S{dd HATag [T & § o Heraey o &l
3H® UPR B! HISARI BT THAT HRAT S Y61 5| =1 H U HHTLH! BT JoT1 H SEe S g1 1 gURom I8 & [ Wdaar &
Ord GRIh! a1 HY TTHT 40 TIRTT SRR TRIS YT & 1o Sia--a719- & 6] & | § ATl ! U1 31 Wi Sra=adbdiai & gfd &
forg off o FHRA1 TS @I B 1 S H Tgd U T HUINU & RIGR € Oy A AT S Tehdl § o Th WY HR &1 GRS Bl
AHR FY &7 fba-T g5 B g |

Sub questions

Question Number : 96 Question Id : 27522898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THR ORI 1 Sifcd THW &1 8, Sl o & [Tbr # Sfavly I il 62
Options :

1. % TR

2. % Hoy

3. ¢ SIS

4. % TRraf

Question Number : 97 Question Id : 27522899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qquf 3y 7 fg 32 &) gaifie Saen 82
Options :

1. ¢ I

2. % HRd

3. % Big

4. % UM

Question Number : 98 Question Id : 275228100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot Ufr=Id S RReT RIS XRaT & 1 Sia=-a1d & Tl 82



Options :
1. % 50
2. % 60
3.9 40
4, % 30

Question Number : 99 Question Id : 275228101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forahT 3UTT SR g BT YW HRUI AT T 52

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. U
2. S{fR7Ef

3. YR

4.°W0YY

Question Number : 100 Question Id : 275228102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U TR T IUGeR] Liiveh Rl BRI
Options :

1. % SIS i : Tdh ATH

2. ¢ SIS g : U SIfcd Jael

3. % SEE g ; RIg &1 3Y1d

4. % SFEREN 9f : Wifde smazaddrst & gfd

Question Id : 27522897 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions :
No



Question Numbers : (96 to 100)

TS T T T | IR O STYR WR Ui Uy fT 7Y € | I &1 e9Mgdd U aul Ui Uy H aR fawedl § 9 Tel faswed g |

AR SR 3 Sfed TN § Sl o & A H 3aR1Y 3dd Bl g | o9 gig W Sx1 &1 381 Sfed wHwnsfi 7 ¥ e g | §gui
fay & T & U1 WRA TEY 31 SRS ATl o7 8 | TR o T ¥ AR <R 1 U1 96 Y6 8, al fad Hl g¥ 78] oid gHR o= Bl
ST 8 i 31 81 SuTh | AR ST i B AR b1 3 A A AR S Hebdll & fob Taciadl YTt & Ui A UTd Gl §
Tg 33 BUS F 100 PRIS & AHHS B IR TS ¢ | o H S IfG & 3| HRUIE | 39 Sfafad Fefan, siren, wiearfaar aur
G0 fAaR 311fe SeReT gfs & Tgd SRUTE | <X B J1d-a18 &1 IRRT UreiH drd 4 o, e wokawey f seer § gf g3
fR1e BT 3rHTa o SR Ifs 1 U THE HRUT 6 | o= H ST Gl 1 THTT 37191 3fdd HaTag [T & 8 o Heraey o &1
3% TR B HISARU BT GHAT BT US 51 5| =1 H ST JHTEH! BT Jo1 H SIueA1 31 g1 BT gRUMH I8 [ Weiadl &
Ord GRIeh! a1 HY T 40 TTRIT SRR TRIS YT & el Sia--a19- R 6] & | 39 ATl ! U1 31 Wi Sra=adbdist & gfd &
forg off Tud T TS T B | S H 95 U S HUINUI & RIGR ¢ R SITHM T Sff Fahell § b Uh W HRA DI GRS T Dl
AIHR FY ¢ fbd-T g5 B g |

Sub questions

Question Number : 96 Question Id : 27522898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THR G¥ B S THWI A1 5, Sl GV & b H SfeRlY IU= Bl 62
Options :

1. ® TRe

2. % Toy

3. ¢ SIS

4. % TRref

Question Number : 97 Question Id : 27522899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tqu 3y 7 {5 S 3T Gaiided S g2
Options :

1. ¥ T

2. % HRd

3. % Y



4. % U

Question Number : 98 Question Id : 275228100 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forart Tifar=d S TRYe X1 & T SiiaH-a1d R X6t 82
Options :

1. % 50

2. % 60

3.9 40

4. % 30

Question Number : 99 Question Id : 275228101 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forTapT 3TUTT ST RIET e BT UG HIRUT AT T 62

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

Question Number : 100 Question Id : 275228102 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Iudad TR 1 IUged X a1 grm?
Options :

1. % SIS g : Teb ATH

2. ¥ ST i : Tb Sfed THE



3. % SR g : RI&T &1 3MUTd
4. % SFERE 3G : Yifde Sma=adhdrst & gfd

Disciplinel
Group Number : 6
Group Id : 27522836
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 27522836
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 27522842
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 275228103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the function of the program counter register?
Options :

1. ® It holds the operand address

2. % It holds the address of current instruction.

3. # It holds the address of previous instruction

4. ¥ It holds the address of next instruction

Question Number : 101 Question Id : 275228103 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I B3R IR BT 1 B gIdT 82

Options :

1. % g8 T (3HTRS) &1 Il (TSY) &1 §

2. % U gaHM ST (3aRM) BT Udl (Ts¥) I@dT 7 |
3. % Ug S MY EX M) &1 Udl (TSY) 39T §
4. TG 3T ST (FXLAR) BT Ul (TSH) Il §

Question Number : 102 Question Id : 275228104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which component of the computer is used to resolve the difference between CPU and the peripheral device?
Options :

1. ¥ Memory unit

2. % Arithmetic Logic Unit

3. ¥ Interface unit

4. % Control unit

Question Number : 102 Question Id : 275228104 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g quT UReRa & & fafiedl &1 g6 d3 & ol SR & fohg HI - BT IGANT faa ST 82

Options :



1. % gORI gfie

2. % RyAfeH Afi® gfe
3. ¢ SRBY gHT

4. % HagHe

Question Number : 103 Question Id : 275228105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the function of data input command in I/O command?

Options :

1. #® Activate the peripheral and to inform it what to do

2. % To check status conditions in the interface and the peripheral

3. # It cause the interface to respond by transferring data from bus into one of its registers

4. ¥ It cause the interface to respond by transferring data from one of its register to bus

Question Number : 103 Question Id : 275228105 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
/0 HHIS H ST 3TYC HHIS P 31 BT Bidl 82
Options :

1. % 05 I Uchg AT qUT I T Yfod BT fob o1 BT &

2. % Y qUT URURA I Wed uRfRufaal &1 Sirg &1

3. % 3T B! 9 Y T Bl I [Hd! T Iorex T RMFARd Hdb ufdfehar (Reis) <1 & forg s
4. 3G B 30 fHft IFoRex T 59 # e RiFaRd e ufaferar (Redrs) 37 & fog s

Question Number : 104 Question Id : 275228106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When Bus Grant (BG) = 1 in direct memory access (DMA) transfer, then what function read line and write lines perform?
Options :

1. # Read line and write line act as input line allowing CPU to communicate with internal DMA register



2. % Read line act as input line and write line act as output line from DMA
3. # Read line act as output line and write line act as input line from DMA controller

4. ¥ Read line and write line act as output lines from DMA controller

Question Number : 104 Question Id : 275228106 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OTd STIRaE AR TR (DMA) TRITR & §9 Ui (BG) = | BIdT1 8, I IS @13 9UT S A3 R 1 BT ahid 82

Options :

1. % S 1A IUT 3¢ AR STYC A1S- & ©0 H ST X gU AU &1 iR SITHT IoRER & 1Y TIR B D1 A od §
2. % BT € A Z9YC A=A & U H B BT § a1 ASC A1 HT3TYC A8 & U H BT el &

3. % 3IUAT deleR IS A8 3M3eYS A3 & U B B Bl & 9UT ST A3 39YC A8 & U H B Hal o

4.« IS ATE TUTIIC AT SITHT SHeleR Y T3 A% & U H B Bl §

Question Number : 105 Question Id : 275228107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following memory units in descending order.

Gigabyte, Megabyte, Exabyte, Zettabyte, Petabyte, Yottabyte
Options :

1. ¥ Yottabyte, Zettabyte, Exabyte, Petabyte, Gigabyte, Megabyte
2. % Zettabyte, Yottabyte, Petabyte, Exabyte, Megabyte, Gigabyte
3. # Yottabyte, Exabyte, Petabyte, Zettabyte, Gigabyte, Megabyte
4. ® Zettabyte, Petabyte, Yottabyte, Exabyte, Gigabyte, Megabyte

Question Number : 105 Question Id : 275228107 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad A9t gfe 1 3feRigt s H AT &1 |

MhIeTge, AMTETsSe, TaOTEse, veldse, UeHge, dieege




Options :

1. ¢ gicTaIse, Siedge, TaaTarse, Uelarse, NTerse, FeTse
2. % Jcdge, dielalse, Uedge, TaaTaise, Aerse, erse
3. % glearse, TaUTEise, UcHge, wedge, INTerse, Adge
4. % JleTaTse, UeTaise, dielarse, TaTaise, herse, Hiese

Question Number : 106 Question Id : 275228108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many 16 K x 1 bit RAM chips are needed to provide a memory capacity of 128 K x 1 byte?
Options :

1. %8

2. % 32

3. ¥ 64

4. % 128

Question Number : 106 Question Id : 275228108 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

128 K x | ST3C B AHRT &l U™ $H- & e faba 16 K x 1 fae RAM I & siaxgesd g2
Options :

1. %8

2. % 32

3. ¥ 64

4. % 128

Question Number : 107 Question Id : 275228109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is minuend value in the following?

subtract (011100), from (1011100),?



Options :

1. #® (111000),
2. % (1011100),
3. ¥ (100100),
4. % (100101),

Question Number : 107 Question Id : 275228109 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e # firE= ar w8

(1011100)2®(011100)2 LGV
Options :

1. # (111000),

2. ¥ (1011100),

3. % (100100),

4. % (100101),

Question Number : 108 Question Id : 275228110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which component of computer act as nervous system?
Options :

1. # Arithmetic Logic Unit

2. # Input unit

3. % Control unit

4. # Storage unit

Question Number : 108 Question Id : 275228110 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

HCR BT I H < T9H RICH B FU H B Bl &7
Options :

1. % JfRyAfes difre g

2. % YC e

3. ¥ Bt gie

4. % WA gfe

Question Number : 109 Question Id : 275228111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which translator is used to convert assembly language to machine language?
Options :

1. ¥ Assembler

2. # Compiler

3. % Interpreter

4. % Linker

Question Number : 109 Question Id : 275228111 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3reert HIST BT FRf U § dee & g ford giaeiex &1 SudiT forar ST 82
Options :

1. ¥ TR

2. % QR

3. % SRYR

4. % fipx

Question Number : 110 Question Id : 275228112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



When n bits are used to represent an operation (op) code, then how many different operations a computer can perform?
Options :

1. # n operations

2. ® 2 x n operations

3. % 2" operations

4. ¥ 2/n operations

Question Number : 110 Question Id : 275228112 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Od U SHTIRTA (op) P BT UG B & ol n fScy &1 IuahT forar Srar 3, d U HueR fara SIeT-Sia SO &R ahdl 82
Options :

1. % n 3TIRH

2. % 2 x n JHRRA

3. ¢ 2" 3{TURYM

4. % 2/n 3{TURRM

Question Number : 111 Question Id : 275228113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of product of (10110), and (10011),?

Options :

1. #® (110110101),
2. % (110100010),
3. ¥ (110100001),
4. % (110100100),

Question Number : 111 Question Id : 275228113 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



(10110)2?‘[”[(10011)2%{lUI'-IlbﬂT:I'T[J-IH HZIT%?
Options :

1. # (110110101),

2. % (110100010),

3. % (110100001),

4. % (110100100),

Question Number : 112 Question Id : 275228114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of (3564)g + (323232),.

Options :

1. ® (1E62)4
2. ¥ (1662)4
3. % (1762)46
4. % (1562)16

Question Number : 112 Question Id : 275228114 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(3564)g + (323232), BT A FT 82
Options :

1. * (1E62)4

2. ¥ (1662)4

3. % (1762)14

4. % (1562)4

Question Number : 113 Question Id : 275228115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the 2's complement of (—28);( in 16 bit representation?
Options :

1. % 1000000000011100

2. % I111111111100011

3.9 1111111111100100

4. % 1111111111100101

Question Number : 113 Question Id : 275228115 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

16 fore RUSICRA T (-28),, BT 2°s HIETAHS FT 52
Options :

1. ¥ 1000000000011100

2. % 1111111111100011

3.9 1111111111100100

4. % 1111111111100101

Question Number : 114 Question Id : 275228116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is 6’s complement of (1543)7 of the computer?

Options :

1. #® (6132),
2. % (5132),
3. % (5123),
4. % (5432),

Question Number : 114 Question Id : 275228116 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HR P (1543), BT 6's HIAAHC 7T 82
Options :

1. % (6132);

2. % (5132),

3. ¥ (5123),

4. % (5432),

Question Number : 115 Question Id : 275228117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Information about each process in operating system is maintained by
Options :

1. #® scheduler

2. % process control block

3. # Central Processing Unit

4. # Program Counter

Question Number : 115 Question Id : 275228117 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR R A Ude W S RATER grre i o )
Options :

1. % ThgeR

2. ¢ YR SIS lh

3. % Yoo TR gfe

4. % YA BRER

Question Number : 116 Question Id : 275228118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Match the following.

1. | Batch Processing System Meeting time constraint

ii. | Multi programming Good response time

iii. | Time sharing Resource utilization

o O W =

iv | Real time CPU idle time

Options :

1.¥i-D,ii—C,iii, B,iv- A
2. % i—A,ii—B,iii,C,iv-D
3.% i-D,ii—A,iii,B,iv-C
4. % i—B,ii—C,iii, D, iv-A

Question Number : 116 Question Id : 275228118 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafed &1 firamn|

i. | & 9rafde fwew | A | HifesT e Feade<
ii. | Hedr SranfFeT B | 3=oT 9fafsar arsd
iii. | TS ATTLET C | gare=T & I9AeT

iv | Rrer ersa D |CPU fafSsa erzm

Options :

1.¥i-D,ii—C,iii—B,iv- A
2. % i-A,ii—B,iii—C,iv-D
3.% i-D,ii—A,iii—B,iv-C



4, % i-B,ii—C,iii—D, iv-A

Question Number : 117 Question Id : 275228119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is Throughput in process scheduling?
Options :

1. #® Time required to complete a process

2. % Number of processes completed per unit time
3. # Time required by a process to respond

4. ® Time required to abort a process

Question Number : 117 Question Id : 275228119 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ST  yge T Y

Options :

1. % U UlohdT Bl GRT HR- & [o1T 3P JHY
2. ¢ Ufd g FHg § qul &1 7S TRIGE &1 g
3. % U & foIT Sia1e & foT sira=ges w7y

4. % &b Yfchd1 1 T A & o7 3Mawaes J7Y

Question Number : 118 Question Id : 275228120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a function of an operating system?

I. Memory allocation
II. Resource utilization

Options :
1. % Only 1
2. % Only II



3.4 BothIand II
4. % Neither [ nor 11

Question Number : 118 Question Id : 275228120 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifEd & 9 &1 T IR Reeq &1 o1 g2
L. AERY Tl

11T T TN
Options :

1. % Had

2. % Had Il

3. ¢ 1 AU Gl
4. % qEIIATR I

Question Number : 119 Question Id : 275228121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of these is not a condition for Resource Deadlock?
Options :

1. # Non-sharable resources

2. # Hold-and-wait

3. % Preemption

4. % Circular waits

Question Number : 119 Question Id : 275228121 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
79 9 3 a1 R SSadid o Tt Uab 20 1ol 82

Options :

1. % 9-RRad RS



2. % glts-US-dc
3. ¢ UITuRH
4. % HeR dcy

Question Number : 120 Question Id : 275228122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Match the following.
1 | Disk scheduling 1 | Shortest Job First
2 | CPU scheduling i1 | Banker's Algorithm

3 | Page replacement iii | Shortest Seek Time

4 | Deadlock iv | Least Recently Used

Options :

1.9 1 —iii,2-1,3 —iv, 4 —ii
2.% 1—1,2—1v,3 —1ii, 4 —iii
3.% 1 —iii,2—1iv,3—1,4 —ii
4. % 1 —iv,2—1,3 —ii, 4 —iii

Question Number : 120 Question Id : 275228122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa o firam)



1 | B wagforer i

AMEFE AT FEC

|

CPU w=gforeT i

dFT A

3 |97 Woogde iii

AMETT T T=H

4 | 2=elTeR iv

Options :

1. 1—iii, 21,3 -iv, 4 —1i
2.% 1-1,2-1v,3—1i, 4 —1ii
3.% 1—ii,2—-1v,3 -1, 4 —1i

4. % 1-1v,2-1,3 11,4 —1ii
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Break time :

Group Marks :
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Mandatory or Optional : Mandatory

Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 27522843
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 275228123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is true about semaphore?

L. It can be Implemented using software
II. It can be Implemented using hardware

Options :

1. ® Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 121 Question Id : 275228123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PafiEd & Q &1 918 S JUHR & TR § 99 2782

. 39 WIHCATR BT ITUNT B Bffad fobar o Tebdl g
11. 39 BTSAWR BT SYANT HRPb BN [T Sff bl §

Options :

1. 8 Had 1
2. % Had Il
3. 1qUT 11 Sl




4. % ATEIIATSIII

Question Number : 122 Question Id : 275228124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A free list contains three memory areas of sizes 6 KB, 15 KB and 12 KB. The next three memory requests are for 10 KB, 2 KB and 14 KB.
Which of the memory allocation strategy that would be able to accommodate all the three requests?

Options :

1. # Worst Fit
2. ¥ Best Fit

3. ¥ Next Fit

4. # First Fit

Question Number : 122 Question Id : 275228124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 11 fore ® 6 dvall, 15 it 3R 12 el HTHR P ol HHRT & § | 3T oI HHRI IPUIC 10 el 2 Bl 3R 14 Bt b AT G| DI
TARY 3MTde oM dFY srRIe & THARd w3 § e gl

Options :

Question Number : 123 Question Id : 275228125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider a main memory with 3 page frames in the following sequence of page reference 3, 4, 2, 3,9, 1, 6, 3, 4, 9. What is the number of page
fault using FIFO page replacement algorithm?

Options :
1.¥9
2. %10



3. %8
4. % 7

Question Number : 123 Question Id : 275228125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

< O a7l U T HERT H US XBRW 3, 4, 2, 3,9, 1, 6, 3, 4, 9 & (ARG oW &1 hH 1 | FIFO US RWIHE TENRYH HT SN
PRSP USl Phlee I T 4T B2

Options :

1.¥9

2. %10

3.% 8

4. % 7

Question Number : 124 Question Id : 275228126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not a condition for process state transition from running state to wait state?
Options :

1. ® If a process request an Input/Output operation

2. % If a higher priority process arrived

3. % If a lower priority process arrived

4. ® If a process waits for some action performed by another process

Question Number : 124 Question Id : 275228126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol § 3 oH-H ue A+ e 3 afdn we o Uiy e giforRe &1 2rd 781 82
Options :

1. % g ®IS TR 37Ye/3M3eye SHTIRRM &7 3R1Y Bl 8

2. % gia = UTYfHeh T arel WiEd 311 71

3. ¢ e HH YIYTHehdl I U 1 T




4. % g DI YT forelt o Ui gRT o) fobdm &bt bRl B Uil el &

Question Number : 125 Question Id : 275228127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a disk system with 100 cylinders, the request to access the cylinder occur in following sequence: 34, 4, 7, 19, 10, 83, 2, 6, 20, 15
Assuming that the head is currently at cylinder 50, then what is the time taken to satisty all requests if it takes 1 second to move from one
cylinder to another? (Shortest seek time first policy is used)

Options :

1. # 119 seconds
2. % 129 seconds
3. % 109 seconds
4. # 139 seconds

Question Number : 125 Question Id : 275228127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

100 RicisR a1dt fewr Reew #, Rydier d& Ugan &1 o1y Fafafaa s A 81d18: 34, 4, 7, 19, 10, 83, 2, 6, 20, 15 98 HHJ gUfH &S
gA B RieieR 50 W, df Gaft SRl &1 1 H= | a1 9Hg T ¢ afe T Riciex I gk R A M # 1 Yoha adl 82 (Rexe
W ez B Hifa &1 IuhI foar 5irar 8)

Options :

1. % 119 hUS

2. ¢ 129 YHUS

3. % 109 9hHUS

4. % 139 JHUS

Question Number : 126 Question Id : 275228128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Boolean expression

AB+AC+BC =



Options :
1. * AB

, % AC+AB

3 @ AB+AC

4 % AB+AC

Question Number : 126 Question Id : 275228128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e Tsieh

AB+AC+BC =

Options :

1. * AB

, » AC+AB

3 AB+AC

4 % AB+AC

Question Number : 127 Question Id : 275228129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which logical gate is known as Universal gate?
Options :



1. ¥ AND
2. % Ex—OR
3. % NOT
4. ¥ NAND

Question Number : 127 Question Id : 275228129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg AT d i &1 gfHaid T & 19 o ST STl 82
Options :

1. ¥ AND

2. % Ex-OR

3. % NOT

4. ¥ NAND

Question Number : 128 Question Id : 275228130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many rows are there in a truth table having 'n' variables?
Options :

1. * 2n

2. % p?

3. # logyn

4. 20

Question Number : 128 Question Id : 275228130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 'n' ORI aTell g4 <o H fhat dfkmal gidil &2
Options :

1. # 2n



2. % pn?
3. ® logyn
4.4 on

Question Number : 129 Question Id : 275228131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the representation of (4589), in Binary coded Decimal (BCD) form?
Options :

1. % 0100011010001001

2.% 0100010110001001

3. % 1001011000100100

4. % 1011001000100100

Question Number : 129 Question Id : 275228131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(4589) 0 I ISR DS S GRHAD H-HT H WUIRIA H?
Options :

1. % 0100011010001001

2.4 0100010110001001

3. % 1001011000100100

4. % 1011001000100100

Question Number : 130 Question Id : 275228132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of DCTL in logic family?
Options :

1. ¥ Direct — coupled transistor logic

2. # Diode — coupled transistor logic



3. % Direct — circuit transistor logic

4. # Direct — circuit threshold logic

Question Number : 130 Question Id : 275228132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT Tfieft # DCTL &1 3fa U =1 82
Options :

1. ¥ SRR - HUTS IfoReR Al

2. % SIS - HUE TIfoReR dloldh

3. % STOGT - Gide TifoRex alold

o\ oC N\ i\ MO
4, % SR - Yl < YURGICS dllSIh

Question Number : 131 Question Id : 275228133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A product of sum (POS) form of logic function consist of only while a sum of product (SOP) form of logic function consist of only

Options :

1. ® maxterms; maxterms
2. % miniterms; minitersm
3. # miniterms; maxterms

4. ¥ maxterms; miniterms

Question Number : 131 Question Id : 275228133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

d% Foid & s 31 IH (POS) BIH H had BId § Safe IH 31T Wisde (SOP) B1H H &ad gl
Options :

1. % Hoger; Haewl

2. * firfiew; ferftewd




3. % fiFtew; Adewy
4.Mﬁaﬂ2ﬁ;ﬁ:ﬂeﬁ

Question Number : 132 Question Id : 275228134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A decimal to Binary Coded Encoder have inputs and outputs.
Options :

1. % 4; 4

2.910;4

3.% 4,10

4. % 2:10

Question Number : 132 Question Id : 275228134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T S SR PSS TIbIe e 3R 3M3CYe B g |
Options :

1. % 4; 4

2.¥10;4

3.% 4;10

4. % 2:10

Question Number : 133 Question Id : 275228135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A logic circuit that accepts one input and distributes it over several output is known as
Options :

1. #* multiplexer

2. % encoder

3. % flip flop

4. ¥ demultiplexer



Question Number : 133 Question Id : 275228135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH QMo Tithe oI U 37YC P WIHR HRT § 3R 34 B3 3M3cye H fqdid HRaT 8, & =0 T ST ST ¢ |

Options :

1. % JdIiad

2. % TdI

3. % {0y WAy
4. ¢ SR ITRR

Question Number : 134 Question Id : 275228136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the logic equation is the represented canonical sum of product form for the given K-Map?

AB
cD 00 01 11 10

00] 1 I

01 I 1

10

Options :

| » ABCD+ABCD+ABCD +ABCD +ABCD

- ABCD+ABCD+ABCD +ABCD +ABCD

ABCD +ABCD +ABCD +ABCD+ABCD



ABCD+ABCD +ABCD+ABCD +ABCD

Question Number : 134 Question Id : 275228136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faQ T K-AFfT & oI H1H-91 ddb JHIBRUT Bifed JH 3T Uisde BIH I < iidl 82

AB
cD 00 01 11 10

00] 1 I

01 I 1

10

Options :

| x ABCD+ABCD+ABCD +ABCD +ABCD

- ABCD +ABCD +ABCD+ABCD + ABCD

ABCD + ABCD + ABCD + ABCD + ABCD

ABCD + ABCD + ABCD+ABCD + ABCD

Question Number : 135 Question Id : 275228137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The binary equivalent of (25.625)y is

Options :

1. % (10001.11),
2. % (11101.001),
3. % (11011.100),
4.4 (11001.101),

Question Number : 135 Question Id : 275228137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(25.625),, PISRN qHDE B
Options :

1. * (10001.11),

2. % (11101.001),

3. ¥ (11011.100),

4. % (11001.101),

Question Number : 136 Question Id : 275228138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the relation between N select inputs and M inputs lines in a multiplexer?
Options :

1. # oM =N

2. ¥ 2N=M

3. % 2M =N

4. ¥ 2N=M

Question Number : 136 Question Id : 275228138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TP AR H, N gfHel 399e 3R M Ye a1l & sie o1 Taiel g2
Options :

1. % 2M=N

2.¥2N=M

3. % OM=N

4. % ON=M

Question Number : 137 Question Id : 275228139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the correct answer of the given statements in the given order?

I. Gate in which output of logical gate is high when all inputs are high is
II. Half of byte is known as
1. A flip-flop whose output follows the input when triggered is

Options :

1. # NAND gate, bit, T — flip-flop
2. % OR gate, nibble, T — flip-flop
3. % AND gate, nibble, D — flip-flop
4. ¥ NOR gate, byte, S — R flip-flop

Question Number : 137 Question Id : 275228139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T o # U U YAl 1 I8l SR AT B2

1. e forgd oie 91t 399e 218 81§ ot i &1 313eye 8T8 BIdT &, g

1. 31T §13¢ & &g A ST 51T 8

111. U fau-waiTd e foTR 81 IR 3HT3TYE, ST T S8R0 vl ¢, g
Options :

1. % 987, fae, <1 - ftkiy-wiy




2. % 3R Tie, e, 4 - Gau-waig
3. ¢ TS Tie, Fssd, S - foau-uary
4. % 9R 7Ie, §13¢, S-R GaU-uaiq

Question Number : 138 Question Id : 275228140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gray code representation of (27)y is
Options :

1. % 11011

2. % 11100

3.410110

4. % 11010

Question Number : 138 Question Id : 275228140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(27)10 1 U BIS UfaAI@ gl
Options :

1. % 11011

2. % 11100

3.% 10110

4, % 11010

Question Number : 139 Question Id : 275228141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is output of Y in the given circuit?

I. BC+AC
m(A+ C][B +E)

A
B

1 T

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor I

Question Number : 139 Question Id : 275228141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fev aw wfde # Y & 33eqe F=m §?

I. BC+AC
H|[A+C]{B+E)

A
B

T

Options :

1. % FHadl
2. % Had Il
3. ¢ 1 qUTIL AT
4. % 1B

Question Number : 140 Question Id : 275228142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given sequential circuit if the initial value of QQ = 00, then what are the next three values of QQg?

Clock

Q, Q,

Options :
1. % 11, 10, 00



2.¥11, 10,01
3. %10, 11,01
4. %10, 00, 01

Question Number : 140 Question Id : 275228142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T 3t uftay H afe Q,Q, = 00 ®1 RS AF B, T Q,Q, P AT fiF AF FT 82

T T Q

aﬁ —l

W

Q, Q
Options :
1. % 11,10, 00
2.9 11,10,01
3. %10, 11,01
4. % 10, 00,01

Discipline3

Group Number : 8
Group Id : 27522838
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Discipline3

Section Id : 27522838
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 27522844
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 275228143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an attribute of good programming languages?
Options :

1. # Clarity, simplicity and unity

2. # Support for abstraction

3. % Ease of program verification

4. ¥ Non portability

Question Number : 141 Question Id : 275228143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o 9 oF ot drnfi yrwist &t faivar Tt 52
Options :

1. % WYdT, AT 3R Thd]

2. % UsHeaRM & forg gueF




3. % U aRfh b= & SRl
4.« TR gargrar

Question Number : 142 Question Id : 275228144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which symbol is used to represent an input/output operation in the flow chart?
Options :

1. # Oval

2. # Circle

3. % Rectangle

4. ¥ Parallelogram

Question Number : 142 Question Id : 275228144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ul I1¢ H 3Ye/3M3eye SHTIRRM &I 3=+ & forg for Uclies o1 SuainT fosan Siran g2
Options :

1. % 3fSIHR

2. % 4dd

3. % 3d

4.« FHRR IqYS

Question Number : 143 Question Id : 275228145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is false regarding the machine language?
Options :

1. % It is machine dependent

2. % It easier to modify

3. #® Ttis made up of 1’s and 0’s



4. # It is difficult to program

Question Number : 143 Question Id : 275228145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o & 9 o= a1 A=A LT % T # e 8
Options :

1. % gg IR R ARe

2. ¢ ZY AN HAT A §

3. % g 1 3R OATN g

4. % Y U ST 4P 3

Question Number : 144 Question Id : 275228146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the rules of the programing language are not followed it gives errors.
Options :

1. ¥ Syntax

2. % Logical

3. #* run time

4. % Printing

Question Number : 144 Question Id : 275228146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR HTST & e o1 UTer =18t fosa e § df 78 Ffear gl
Options :

1. ¢ Ric

2. % QI

3. % T TRH

4. % ffdq



Question Number : 145 Question Id : 275228147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The speed of supercomputer is measured in
Options :

1. # Floating — point operations per hour
2. # Floating — point operations per day

3. ¥ Floating — point operations per second

4. ® Floating — point operations per minute

Question Number : 145 Question Id : 275228147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IRGGR HIAAD A AR
Options :

1. % TRAITCTT — UTSe TR Ufdl giel

2. % GRS - Ulge U Ufd fae

3. ¢ TR - Uige SiIRRHY Ufd Yhs

4, % TRAITCHT — UIST SRR Ufd fre

Question Number : 146 Question Id : 275228148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the Form.StartPosition property represent in Visual Basic?
Options :

1. # It determine the end position of the form

2. ¥ It determines the initial position of the form

3. # It determines the current position of the form

4. ® Tt determines the next position of the form

Question Number : 146 Question Id : 275228148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

ﬁﬁ\’w‘lﬁ R H Form.StartPosition m’uﬁwmﬁ%‘)
Options :

1. % gg irH o oifqw Rufa Rufa s=ar g

2.« g B Bt YRS Rufa Ruiia sxar g

3. % Ug BiH &I gaA fufa Rufva s=arg

4. % g BIH o1 3Tl fUfT Puifd warg

Question Number : 147 Question Id : 275228149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are true about Break All Visual Basic toolbar buttons?

I. Delete the selected item
II. Pauses execution of your program

Options :

1. % Only1

2. ¢ Only II

3. ® BothIandII
4. % Neither I nor II

Question Number : 147 Question Id : 275228149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 3Hid fagsrd IRIP CAER ded & de § FufaRad & 9 & 91 HU= 98! /87

1. I9d 35cH gerdl @

I1. 3T TR & TRIGRH &I AT §
Options :

1. % Bhad |

2. ¥ Had 11




3. % 1dUT Il
4. % qIEITAIBI I

Question Number : 148 Question Id : 275228150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is not an acceptable control name in visual basic?
Options :

1. # txtAge

2. % btnCalc

3. # IblDistance

4. ¥ txtFirst + Last Name

Question Number : 148 Question Id : 275228150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fagsre 9 o o9 1 wueia Wi T8 82
Options :

1. % txtAge

2. % btnCalc

3. % IblDistance

4. ¥ txtFirst + Last Name

Question Number : 149 Question Id : 275228151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of IDE in visual basic?
Options :

1. # Integration development environment
2. ¥ Integrated development environment
3. % Integrated drive electronics

4. # Integrated development electronics



Question Number : 149 Question Id : 275228151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fagera s # o, 1. 3 &1 sNifed wu aar 82
Options :

1. % SIURM SIAUHC THARRAHE

2. ¢ 3ETUCS SAAUHC TAARIRHC

3. % SIS Fed gA ey

P e Ye sl

Question Number : 150 Question Id : 275228152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the shortcut key of Step Over in Visual Basic?
Options :

1. % F9

2. ¥ F10

3. ¥ Fo

4. % F11

Question Number : 150 Question Id : 275228152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Risjorer 3R & ©Y 3R & Widepe ol 7 &
Options :

1. % F9

2. ¥ F10

3. % F6

4. % F11



Question Number : 151 Question Id : 275228153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the following window of visual basic with their function.

1 Immediate ; It Display the properties
window for the current object
2 FEEY = ii | It design the form

window

: It list the forms and
Project explorer

3 i ) iii | modules for the current
windows !
projects

It give current values of

4 | Design window v :
variables

Options :

1.¥ 1—iv,2—1,3—1iii, 4 —ii
2.% 1 —ii,2—-1,3 —1iii,4—1iv
3.% 11,2 —1ii,3—ii,4—1iv
4, % 1 —iv,2—1ii, 3 —ii,4 -1

Question Number : 151 Question Id : 275228153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fasiara difen ot g fdS) D1 3D e & Try fAarsi|
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Options :

1.¥ 1—iv,2—-1,3—1ii,4 —1ii
2.% 1 —ii,2—-1,3 —iii,4—iv
3.% 11,2 —1ii,3—1i,4—1iv
4, % 1 —iv,2—iii, 3 —1i,4 -1

Question Number : 152 Question Id : 275228154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is correct regarding Programming Languages?
Options :

1. % Procedural programming — Functions

2. ¥ Object-oriented programming — Objects

3. * Functional programming — Logical unit

4. % Logical Programming — Function



Question Number : 152 Question Id : 275228154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TITTERT HTST3T & ey # Frafemad o 9 o a1 98! 82
Options :

2. ¢ Sffsaiae SRTCS T - iy

3. % ThaRMd U - difsied g

4. % QoI U - e

Question Number : 153 Question Id : 275228155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a modular programming approach problem is further divided into
Options :

1. # question

2. % solution

3. ¥ modules

4. % object

Question Number : 153 Question Id : 275228155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aieger M eRe A e g o oMt H faunfid fran S 81
Options :

1. #= Uy

2. % HHYH

3. ¢ Oled

4. % 3ffssldc

Question Number : 154 Question Id : 275228156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct about modular programming approach?

I. Ease of use
II. Reusability

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 154 Question Id : 275228156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AISIER U 2f¥ebiu & aR H FafiRad # 3 &9 918 oY= 981 6/8?

L. ST H T
1L G5

Options :

1. % Phad [
2. % HAd Il
3. [ QYT I gl
4. % qEIIATR I

Question Number : 155 Question Id : 275228157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How the object interact with each other in object oriented programming?
Options :

1. % By ringing

2. # By text

3. ¥ By sending message



4. % By transmitting signal

Question Number : 155 Question Id : 275228157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ffsoiae SNRUCS TTHT H siisside Th GuR & 1Y Bl Sexac HRd 57
Options :

1. ® R grRy

2. % CRCGRI

3. ¢ TS N gRI

4. % T¥YUd <N & gRI

Question Number : 156 Question Id : 275228158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the relation between object and class in an object oriented programming?
Options :

1. #® Object is keyword of class

2. % Object is scope of class

3. ¥ Object is instance of class

4. ® QObject is type of class

Question Number : 156 Question Id : 275228158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sffsoiae SRTCS TN & sifssiae SR oo & S o1 ey 87
Options :

1. % Sfieoide o BT DHIAS o

2. % 3ffeoiae o HIWhU §

3. ¥ 3fsolde Fol BT SR ¢

4. % 3fsolde FATY BT UPR &




Question Number : 157 Question Id : 275228159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In Object Oriented Programming, when a new class created from an existing class using principle of inheritance, then the new class is known as

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. New class

2. Child class

3. Member class

4. Derived class

Question Number : 157 Question Id : 275228159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sfiesiae SIS TR H, Oid U Hivlel & ¥ 3oRey & RIGId &1 SUURT 6 U -8 aaly T3 Sldl! &, <l s &l &l &

¥q § ST S 8 |
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

e RIS

2. 4IRS I

3. HeR I

4. SRS FA

Question Number : 158 Question Id : 275228160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is NOT an object oriented feature?
Options :

1. % Inheritance

2. % Abduction

3. #® Abstraction

4. # Polymorphism

Question Number : 158 Question Id : 275228160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefed o 9 B te siisside iRUCS WR T8l 82
Options :

1. % gTERY

2. ¥ HJSHRH

3. ¥ AR

4. % UIAHRH

Question Number : 159 Question Id : 275228161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one is NOT a feature of Python language?
Options :

1. # High level language

2. # Interpreted language

3. % Case insensitive

4. ¥ Portable

Question Number : 159 Question Id : 275228161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgferfad & ¥ o I urgy= Y o1 foRivar 91 82



Options :

1. % gI8 7ad qvaol
2. % IS Al
3. ¥ HY SURICIT

4. % UIdqq

Question Number : 160 Question Id : 275228162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T HTST & >>> HT a7 372 22
Options :

1. % 37U e

2. % 3378¢ Ry

3. ¥ TR T oA & e R 7
4. % HIFER MW A P U AR B

Question Number : 160 Question Id : 275228162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the meaning of >>> in Python Language?
Options :

1. % 3 left shift

2. % 3 right shift

3. ¥ Interpreter is ready to take instruction

4. ® Compiler is ready to take instruction

Discipline4
Group Number : 9
Group Id : 27522839

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 27522839

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 27522845

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 275228163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given declaration statement in Python Language belongs to which data type?

>>>Student ={*SUBJECT" : ‘Compiler’, ‘Marks’ : ‘50°, ‘Grade’ : ‘C’}
Options :

1. * Numbers

2. * Sequence

3. % Sets

4. ¥ Dictionary



Question Number : 161 Question Id : 275228163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y= ool | fear T feaaReq et forg Ser ey 3 Iefdd g2

>>>Student ={*SUBJECT" : ‘Compiler’, ‘Marks’ : ‘50°, ‘Grade’ : ‘C’}
Options :

1. % ded

2. % Hihy

3. % Yoy

4. ¢ SR

Question Number : 162 Question Id : 275228164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement(s) is/are NOT true about the variables in Python Language:

I. Values of every variable can be changed once a variable has been created and assigned value.
II. Assignment statement is used to create a new variable and assign value.

Options :

1. ¥ Only I

2. % Only I

3. % BothIandII
4. % Neither I nor II

Question Number : 162 Question Id : 275228164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ORI U & ARTEed & IR § &1 IIA Y9 9 el /82

. U IRTSd §91 3R A 3118 fhU ofF & §1e YA dRUad & A g6 off 9dhd ¢ |
1. 3RATZHE WeHT BT IUTNT Udh Ta1 ANTTA §-H 3R I 3184 HRA & forg fohar S g1
Options :




1. ¥ Had I
2. % Had I
3. % [QYUT I gl
4. % I IAIE I

Question Number : 163 Question Id : 275228165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the output of this code in Python Language:

>>>x =125
>>>y = 13
>>>x /=y
>>>x

Options :
1.¥9

2. % 125/13
3.% 10

4. % 9.62

Question Number : 163 Question Id : 275228165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ORIy TS H 3T 74 D18 &1 3HTSeYE 1 6:

>>>x =125
>>>y =13
>>>X//=y
>>> X

Options :
1.¥9

2. % 125/13
3.% 10

4. % 9.62



Question Number : 164 Question Id : 275228166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the following with respect to Event Driven Programming.

. ) Perform
1 | Event - et S
said event
.. | Event User
il & : b |
listene1 interaction
Event
... | Event :
111 ¢ | monitored
handler
by code

Options :

1. ¥ i-a, ii-b, iii-c
2. % i-c, ii-a, iii-b
3. ¥ i-b, ii-a, iii-c

4. * i-b, ii-c, iii-a

Question Number : 164 Question Id : 275228166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gdc fga= M & ey # afaRad &1 ffam &
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Options :

1. # i-a, ii-b, iii-c
2. # i-c, ii-a, iii-b
3. % i-b, ii-a, iii-c

4. ® i-b, ii-c, iii-a

Question Number : 165 Question Id : 275228167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is responsibility of event queue in event driven programming?
Options :

1. % Create new event

2. % Delete the event

3. ¥ Make a sequence in which event is executed

4. % Change the event

Question Number : 165 Question Id : 275228167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3dc fEa vionfi & d¢ o 3 a1 fowiar) gl 82

Options :



1. % qOTsde §91¢
2. % gdc B gel
3. ¢ U A S0 o7 $de TRFL 8
4. % 3dc ®l gcA

Question Number : 166 Question Id : 275228168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the output of the code in Python Language:

for num in range (3):
if num > 0:
print (num*100)

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. 100, 200, 300

2. 100, 100, 100

3. 300, 300, 300

4. 300, 200, 100

Question Number : 166 Question Id : 275228168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRIY HTST H T T $TS BT 33T T 5:
for num in range (3):

if num > 0:

print (num*100)

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.



Options :

1. 100, 200, 300
2. 100, 100, 100
3. 300, 300, 300
4. 300, 200, 100

Question Number : 167 Question Id : 275228169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is output of the code in Python Language:

>>> str] = ‘All the Best’
>>> strl[-3]

Options :
1. = 7
2.¥ ‘¢
3. % ‘W
4. % ‘B’

Question Number : 167 Question Id : 275228169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRI HTST o fU TN 1€ PT 313TYe 1 8:

>>> str] = ‘All the Best’
>>> strl[-3]

Options :
1. % P
2.¥ ‘¢
3. % ‘W
4. % ‘B’

Question Number : 168 Question Id : 275228170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A complete binary tree T have n leaf nodes. What is the number of nodes with degree of 2 in tree T?
Options :

1. % n

2. % n/2

3. n-1

4. % 2n

Question Number : 168 Question Id : 275228170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP HIAe g S TH neliw g gl A TH S 2 & Agu ol G e g2
Options :

1. % n

2. % n/2

3.9 n-1

4. % 2n

Question Number : 169 Question Id : 275228171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of the ((Start — Next) — Next) — Info in the given list?

Start—p—=> (125 —1—=> [140| —1—= |128] — 1= |130] x

Options :
1. % 125
2. % 140
3.9¥128
4. % 130



Question Number : 169 Question Id : 275228171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEERCIE IR BT

were—> [125] —— [140] ——= [128] —— [130] x

((Start — Next) — Next) — Info T HIH T %‘?
Options :
1. % 125
2. % 140
3.9 128
4. % 130

Question Number : 170 Question Id : 275228172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement is true about condition of overflow in the circular Queue?

I. Front =1 and Rear=N
II. Front = Rear + 1

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. # Neither I nor II

Question Number : 170 Question Id : 275228172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THR T P NRT 3! fRUfq & Jeuf & Fpffa A ¥ P w98 282



Le=13MRRm=N
L. Whe =R + 1
Options :

1. % Had 1

2. % HAAII

3. ¢ 1 AU Gl

4. % qIGIIATR I

Question Number : 171 Question Id : 275228173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The numbers 70, 50, 10, 80, 30, 60, 100, 90, 40, 20 are inserted in the given order in to a binary search tree. What is the in-order traversal
sequence of the resultant binary search tree?

Options :

1. % 70, 50, 10, 80, 30, 60, 100, 90, 40, 20
2. %100, 90, 80, 70, 60, 50, 40, 30, 20, 10
3. % 10, 30, 50, 70, 90, 20, 40, 60, 80, 100
4.+ 10, 20, 30, 40, 50, 60, 70, 80, 90, 100

Question Number : 171 Question Id : 275228173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR T < H fou T om F Fman 70, 50, 10, 80, 30, 60, 100, 90, 40, 20 P STAT ST & | GRUTH S I & &1 37-31TR cavdt

3 H 1§72
Options :

1. #® 70, 50, 10, 80, 30, 60, 100, 90, 40, 20
2. # 100, 90, 80, 70, 60, 50, 40, 30, 20, 10
3. ¥ 10, 30, 50, 70, 90, 20, 40, 60, 80, 100
4.+ 10, 20, 30, 40, 50, 60, 70, 80, 90, 100

Question Number : 172 Question Id : 275228174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What is balance factor of an AVL tree?
Options :

1. % |n(Th| <1

2. % (TR <1

3.9 |h(TH) - (TR < 1

4. % |h(ThH + h(TR) <1

Question Number : 172 Question Id : 275228174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AVL & &1 909 e 1 82

Options :

1. % |h(Th| <1

2. % (TR <1

3. ¢ [h(TH) — h(TR)| < 1

4. % |h(TH +h(TR)| < 1

Question Number : 173 Question Id : 275228175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the average number of comparisons required in sequential search to find an element?
Options :

1. % p?

n(n+1)




Question Number : 173 Question Id : 275228175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forelt T I Wiom & fore RiaguiRIsra 9 & SH1axges a1l &1 3id I &1 62

Options :
1. % p2

n(n+1)

Question Number : 174 Question Id : 275228176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following complexity of the algorithm in ascending order.

0(2").0(n).O(log,n).0(nlog,n).0(n’)
Options :
1. ¢ D(l‘:’g:“)-0{11}-0(ﬂl@gzﬂ)‘ﬂ(n:]‘o(zﬂ)

CI(n].D{log:u).U(nlogz11].0(112).0(2“)
2. %

- Cl{n].Cl(nz).D(logzn).ﬂ(nlog: 11].0(2“)



. D(loggﬂj.ﬂ(nl:]g:n]_[}(n)_o(n;)‘ﬂ(zﬂ]

Question Number : 174 Question Id : 275228176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad Birciferd & 3RIEH pH H afRyd HI |

0(2°).0(n).0(log;n).0(nlog, n).0(n’)
Options :

v O(logzn).D{11].0(nlogzn).ﬂ(nzj.ﬂ(zﬂj

- Cl(ﬂ]-U(IGg:n).U(nlogznj_o(nz)‘e(zﬂ)

3 % C'{ﬂ}.D{nlj_(}(logzn).ﬂ(nlog: n]‘g(gﬂ)

48 D(IGEEHJ-D(Hlﬂg:ﬂ]_ﬂ(n)‘ﬂ(nl)-ﬂ(zﬂ}

Question Number : 175 Question Id : 275228177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider a n x n tri-diagonal sparse matrix A. Suppose we want to store sparse A in a one-dimensional array. What is the index of the (i,
element of A in the one-dimensional array.

Options :

1. #® 2i+2j

)th



2.¥2i+j-2
3% i+
4% i+j-1

Question Number : 175 Question Id : 275228177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP n x n CTe-STTFE W AT A B | T T 88 W A B U 97 SHTAT W H TR HA1 81 39 a1 STRT-d W H A & (i.j)th
ToHE BT S I GRT?

Options :

1. % 2i+2j

2. ¥ 2i+j-2

3.% i+

4, % i+j-1

Question Number : 176 Question Id : 275228178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many different binary search trees can be constructed with 6 different nodes?
Options :

1. ® 64

2. % 128

3. % 32

4.9 132

Question Number : 176 Question Id : 275228178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 fafira gy aral ford fafta St o < o9 9ohd &2
Options :

1. * 64

2. % 128




3. % 32
4.9 132

Question Number : 177 Question Id : 275228179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider a sorted array of 10,00,000 elements. What is the maximum number of comparison required to find the location an item using binary
search?

Options :
1. ¥ 20
2.% 6
3. % 21
4. % 7

Question Number : 177 Question Id : 275228179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10,00,000 Il &1 T Fies W B | T T o7 SUTNT B [hf} 3Mged & RIF P WioH & fo1g saxges Sifiean qa-d fardt giem?
Options :

1. ¥ 20

2.% 6

3. % 21

4. % 7

Question Number : 178 Question Id : 275228180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Using division method [n(k) = k mod m)], at which position 177 and 197 key values are stored in hash table when the size of hash table is 577
Options :

1. 46,26

2. % 7,27

3. % 26,6



4. % 27,7

Question Number : 178 Question Id : 275228180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gwmﬁfﬁ[n(k)zkmodm)]mwmgm 177 QT 197 Bt HH SN 32 dIfeieT H Te g, S1d | dlfereh] &l PR 57 § g Ug R
)

Options :
1. ¥ 6,26
2. % 7,27
3. % 26,6
4. % 27,7

Question Number : 179 Question Id : 275228181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider an array A[2 : 8,—4 : 1, 6 : 10]. Base address of array A is = 400 and size of each element = 2 word per memory cell. What is the
address of A[5, —1, 8] in row major form?

Options :
1. ¥ 628
2. % 614
3. % 630
4. % 626

Question Number : 179 Question Id : 275228181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THWA[2: 8, 4: 1,6 10] R AR B W A T IF TS = 400 B 3R YAF Terde o1 sol = 2 Tsg Ul AR A 81 A AR T H A[-S,
1, 8] HT TS FAT 2

Options :

1. ¥ 628

2. % 614



3. % 630
4. % 626

Question Number : 180 Question Id : 275228182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Inorder and postorder traversal of a binary tree are given.

In:E,IC,FB,G,D,J,HK
Post: LE,F,C,G,J,K,H,D,B

What is the preorder traversal of the binary tree?
Options :

1.¥B,C,E,LE,D,G,H,JK

2. % B,F,LLE,C,D,G,H,JK

3.% B,C,E,LF,D,G,H,K,J

4. % B,C,E,F,G, H,K,D, ], 1

Question Number : 180 Question Id : 275228182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & BT 3R 3R UReaiier dadfa fear mar 3|

39 E,I,C,FB,G,D,J,HK
U LE,F,C,G,J, K, H,D,B
I & T HtafTeR Sada T g |
Options :
1.¥B,C,E,LE,D,G, H, J,K

2. % B,F,ILE,C,D,G,H,J,K

3. % B,C,E,LED,G,HK,J

4. % B,C,E,F,G, H,K,D,J, 1



Discipline5

Group Number : 10

Group Id : 27522840

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline5

Section Id : 27522840

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 27522846

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 275228183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two way merge sort algorithm is used to sort the following elements in ascending order.
200, 470, 150, 80, 90, 40, 400, 300, 120, 70.
What is the order of these elements after second pass of the merge sort algorithm?

Options :
1. # 40, 70, 80, 90, 120, 150, 200, 300, 400, 470



2. % 200, 470, 80, 150, 40, 90, 300, 400, 70, 120
3. ¥ 80, 150, 200, 470, 40, 90, 300, 400, 70, 120
4. % 40, 80, 90, 150, 200, 300, 400, 470, 70, 120

Question Number : 181 Question Id : 275228183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

€ d Tl 91¢ TR &1 IuanT FUfafad Il & SRIg 1 & HHaS $HR- & (o fHar gl

200, 470, 150, 80, 90, 40, 400, 300, 120, 70.

oS! II¢ TANNRS & GR U & §IE 39 dcdl 1 o 1 62
Options :

1. % 40,70, 80, 90, 120, 150, 200, 300, 400, 470

2. % 200, 470, 80, 150, 40, 90, 300, 400, 70, 120

3. ¢ 80, 150, 200, 470, 40, 90, 300, 400, 70, 120

4. % 40, 80, 90, 150, 200, 300, 400, 470, 70, 120

Question Number : 182 Question Id : 275228184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the complexity of selection sort algorithms?
Options :

1. # O(n)

2. % O(nlogyn)

3. ¥ O(n?)

4. % O(2n)

Question Number : 182 Question Id : 275228184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ry Ii TERYH P Brciiac =1 82



Options :
1. % O(n)
2. #® O(nlog,n)

3. % O(n?)
4. % O(2n)

Question Number : 183 Question Id : 275228185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
To convert the case of letters, which header file in C++ is to be included in the program?

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.

Options :
1. <assert.h=

o <lostream.h=
5 =string.h>

4 <ctype.h>

Question Number : 183 Question Id : 275228185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31&RT & HY DY H-ac B P 11T C-++ T B I Ul TSR BIeet AMHT B gl 32
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.



Options :
| <assert.h>

> <iostream.h>

5 <string.h>

4 <ctype.h>

Question Number : 184 Question Id : 275228186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In C++, namespace defines a for the identifiers that are used in a program.

Options :
1. * size
2. ¥ scope
3. % syntax

4. % standard

Question Number : 184 Question Id : 275228186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C++ ¥, TG U H ITANT fbU ofF aret emgeferrRg S foutes . ol aRYURd et B
Options :

1. % W5

2. ¢ WY

3. % Ricw

4. % XTSS

Question Number : 185 Question Id : 275228187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In C++, operator “>>' is used along with object cin for reading input is known as
Options :

1. ¥ extraction

2. % output

3. % getin

4. # putto

Question Number : 185 Question Id : 275228187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C+ T HRR > AT IS FTAF U I AAMEIT_ Fed gl
Options :

1. ¢ ToICaRM

2. % 3H3cYc

3. % T

R

Question Number : 186 Question Id : 275228188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct regarding void keyword in C++?

I. To specify the return type of a function when it is not returning any value.
II. To indicate an empty argument list to a function.

Options :

1. * Only I

2. % Only II

3.+ Both I and II
4. # Neither I nor II



Question Number : 186 Question Id : 275228188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. % HAd Il
3. ¢ [ QYT ISl
4. % FrATIATA

Question Number : 187 Question Id : 275228189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In C++, bool data type is used to hold how many values?
Options :

1. ® p2

2.9

3. % 2n

4, % QN

Question Number : 187 Question Id : 275228189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C++ T, §0 ST TIRY &1 IUANT fhd! degel X8+ & fore o SiTaT g7
Options :

1. % p?

2.9 2

3. % 2n

4, % 20



Question Number : 188 Question Id : 275228190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is specified by function prototype in C++?

I. Return Type
II. Function name
II1. Number and types of argument

Options :

1. #* TIand II

2. % JTand III

3. % Il and III
4. 1,11 and 111

Question Number : 188 Question Id : 275228190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o9 91 hawH Welersy gry Ry fear Srar g2

1. fRed ey
1. R 49
1. 3FTgHE BT TSAT T YDHR

Options :

.= Iddl

2. % ITdYUT I
3.% I dYr I
4, 1, 1 dYTIII

Question Number : 189 Question Id : 275228191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the symbol and associativity of the assignment operator in C++?



Options :

1. # =, left to right
2. # == left to right
3. # ®, right to left
4. ¥ = right to left

Question Number : 189 Question Id : 275228191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C++ H ST TR BT Udid 3R dgdl F1 52
Options :

1. % = §I Y g

2. % —— g I el

3. % ®, QAT

4. ¢ = QI EN

Question Number : 190 Question Id : 275228192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement is correct about static member function in C++?

L. It can access to only other static members declared in the same class.
II. It cannot be called using the class name (instead of its objects)

Options :

1. ¥ Only I

2. % Only II

3. % Both IandII
4. # Neither I nor II

Question Number : 190 Question Id : 275228192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ Hadl
2. % HAd Il
3. % [ QYT ISl
4. % qIAIATA

Question Number : 191 Question Id : 275228193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which statement is NOT correct regarding ternary operator in C++?
Options :

1. # Its symbol is ?2:

2. # Tt is also known as conditional operator

3. % Operator overloading is possible in it

4. % Tt is similar to if else

Question Number : 191 Question Id : 275228193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C++ B TR TIRER & IR & D I YT T8! T8l &2
Options :

1. % SUBI YD 5§ 2

2. % Y HIRAA TR & T4 H o FH1 31l ©

3. ¢ S 3T SNRANST IHT &

4. % JE 3B U@ & AHH§

Question Number : 192 Question Id : 275228194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

By default in C++, the member of a class are , while, by default the member of structure are
Options :

1. % private; private

2. % public; public

3. % private; public

4. ® public; private

Question Number : 192 Question Id : 275228194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CHARHICTUY, TG H Hed  Bld g, oaid, [Shle TUIXRRF Aed g gl
Options :

1. ¥ Y1gde; grgde

2. % m,m

3. #’Qﬁa?;m

4, ® UW,EI’I?@_C'

Question Number : 193 Question Id : 275228195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the following.



Allows a function or
operator to be given

i) | Overriding 1
® - more than one
definition
5 | g , | A function that is called
& | to deallocate memory
The ability to change
(iii) | Destructor 3 | the definition of an

inherited method

Options :

L% i-1,ii—3,1ii—2
2.% 1-3,1i—2,iii— 1
3.9 13,0 1,1ii -2
4, % i-2,ii—3,iii—1

Question Number : 193 Question Id : 275228195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

L% i-1,ii—3,iii—2
2. % i-3,1i—2,iii— 1
3.9 1 -3,1i—1,iii—2
4. % 12, ii—3,iii — 1

Question Number : 194 Question Id : 275228196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the following file stream classes in C++ with its functions.



Provides support for

1 | fstream base (1) | simultaneous input and
output operation
G | (ii) Provides output

operation

Provides operations

3 | ofstream iii
(itr) common to file streams
4 | fstream (iv) | Provides input operation
Options :

1% 14,23 —iv, 4 —iii
2. % | —iv, 2 —iii,3 1,4 —ii
3.0% 1,2 —iii, 3 —iv, 4 —ii
4.9 1 —iii,2 —iv, 3 —ii, 4 —i

Question Number : 194 Question Id : 275228196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.#% 1-1,2-1i,3 —iv, 4 —iii
2. % 1 —iv,2—iii, 3—1,4 —ii
3.% 1-14,2—1ii, 3 —iv, 4 —ii
4.9 1 —iii, 2 —iv, 3 —ii, 4 -1

Question Number : 195 Question Id : 275228197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In C++, “Out-of-range-index” belong to type exception while keyboard interrupts are called exceptions.
Options :

1. % synchronous; synchronous

2. % synchronous; asynchronous

3. # agynchronous; synchronous

4. # asynchronous; asynchronous

Question Number : 195 Question Id : 275228197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g, Ry
2. ¢ R, tRigHT
3. % Qmﬁ-mﬂ; Righ Y
4. % URIHAY; TRIGAY

Question Number : 196 Question Id : 275228198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is output of the given code?

void main ()

{
int a=23, b, *p,**q;
p=&a:
q=&p:
cout << b;
}
Options :
1. % 3
2.9 12
3. % 18
4. % 24

Question Number : 196 Question Id : 275228198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T HIS HT 3M3TYe FT 82




void main ()

{

int a=3, b, *p,**q;
p=&a:

q=&p:
b=2*[**q+*p);
cout << b;

}

Options :
1.%3
2.9 12
3. % 18
4. % 24

Question Number : 197 Question Id : 275228199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the output of code?

void main ()

{

int X =33.v.2;

z=x++ + 17;

Y=4+Z = +4X

Colb < "X T X< Ny Gy Yt G e

;
Options :
1. % x=34y=172z=51



2. x=35y=162z=51
3. % x=34y=162z=50
4. % x=35y=17z=51

Question Number : 197 Question Id : 275228199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3U U BIS FT M3y FAT 2

void main ()

int X =33.y.2;

Z=x+t++ IF;

y=++Z = F+X;

Conb<= "R X Ny Y e

;
Options :

1. % x=34y=17z=51
2.9 x=35y=16z=51
3. % x=34y=16z=50
4. % x=35y=17z=51

Question Number : 198 Question Id : 275228200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is NOT correct regarding Virtual function in C++?

L. It must be a member of some class.
II. It is accessed by using object points.

Options :
1. % Only I



2. % Only II
3. ¥ BothIand Il
4. ¥ Neither I nor I1

Question Number : 198 Question Id : 275228200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C++ o Fard e & de 7 fufafad § O o a1 ey wdl 76 82
1. I8 i 3 1 AR g1 91|

1. 39 3fieoide Uigcy &1 SWHTA B Yo fhdT ST ]|
Options :

1. % FHadl
2. % Had I
3. % [ UGl
4. A IAA

Question Number : 199 Question Id : 275228201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is join operation in Structure Query Language (SQL)?

Options :

1. ® Join is an operation used to select group rows of a table that contains the same values in a specific column.

2. ® Join is an operation which is used to combine two different data keys.

3. % Join is an operation used to combine rows from two or more tables based on one or more common fields between them.

4. ® Join is an operation which work on a single row of a table and return a single value.

Question Number : 199 Question Id : 275228201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR H Aiael (THEUd) | Sig U 31 82

Options :
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Question Number : 200 Question Id : 275228202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a part of Data Definitions Language in Relational Database Management System?
Options :

1. # Create table

2. ¥ Insert table

3. % Alter table

4. ® Drop table

Question Number : 200 Question Id : 275228202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed § 3 oF 91 Rexqd serey feic ey # Se1 SR e &1 T YFT =8l 82
Options :

1. % fobue ¢od

2. ¥ 3C ¢qd

3. % 3ffccR Cod

4. % g Tqd
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Group Maximum Duration : 0
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Question Number : 201 Question Id : 275228203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the following formal relational term with informal equivalents.

1 | Relation 1 |Row

ii | Tuple 2 | Value
il | Attribute 3 | Table
iv | Domain 4 | Column

Options :

1. * 1-3, 11-4, 1ii-1, 1v-2



2. % i-3,ii-1, iii-4, iv-2
3. % i-1, ii-3, iii-2, iv-4
4. % i-4,1i-3, iii-2, iv-1

Question Number : 201 Question Id : 275228203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frgfeiad wide RaeHd ue &1 g9wiHd Ufdddey ¥ firam i)
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Options :

1. # i-3, ii-4, iii-1, iv-2
2. % i-3, 1i-1, iii-4, iv-2
3. % i-1, 1i-3, iii-2, iv-4
4, % i-4,1i-3, iii-2, iv-1

Question Number : 202 Question Id : 275228204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Write the name of the relational algebra operation as per the given order of their notation.

II, X, s

Options :

1. #® projection, Cartesian product, division
2. ¥ Projection, Cartesian product, select
3. % Intersection join, outer join, select

4. # Projection, outer join, select



Question Number : 202 Question Id : 275228204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3% HohdA(AICRA) & 4T T hH o TR NI feroiaT SRR &1 A1 faag|

II, X ,s
Options :

1. % YIoIaRH, HICRISH UM%, fqHTeH
2. ¢ TIGaRM, BRI oG, Jdae
3. % FeIUIH SA18, 33X sarsH, Jade

-~

4. % YIIRH, 313X Sars-, Jadae

Question Number : 203 Question Id : 275228205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following relation schema of students.

STUDENT (Rollno, Name, DOB, Marks, Gender)
Which of the given query is equivalent to this query in English? “Find the tuples of student having marks above 80”.

Options :

1. ¥ Spfarks>80 (STUDENT)
2. % Tly1uks-80 (STUDENT)
3. * SMarks<so (STUDENT)

4. ® IMarks<go (STUDENT)

Question Number : 203 Question Id : 275228205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Spfarks>g0 (STUDENT)
2. % Tyarks>g0 (STUDENT)
3. ® S\arks<go (STUDENT)
4. % Tyfarks<so (STUDENT)

Question Number : 204 Question Id : 275228206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is Denormalization in Relational Database Management System?

Options :

1. ¥ Denormalization is the process of increasing redundancy to improve performance.
2. #® Denormalization is used to decrease rredundancy in database.

3. # Denormalization is used to decrease the dependence on normal forms.

4. ® Denormalization is used to develop a new schema in database.

Question Number : 204 Question Id : 275228206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RATd Seray Avie Ried § SHHdge- o1 gid1 82

Options :

1. ¢ UG P 9gdR S & Y ifaRadd g o1 ufehan &1 S HATSSIR B8l Siidl g |
2. % STy H Sfalkaddr &1 0 B3 & o SHHTsoIRMA &1 IuanT fosdr Srar g |

3. % AR B R AHRAT &) BH B4 & ol SHageE &1 ST fHar S g |

4. % 399 A TP 77 W1 fa g &3 & forg SHHdg eI &1 SuanT fhar Srar g

Question Number : 205 Question Id : 275228207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct regarding Structured Query Language(SQL)?



I. The datatype FLOAT can hold numbers with decimal points.
II. The datatype BIGINT occupies 16 bytes.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 205 Question Id : 275228207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WIS B olidel (THRILS) & FaH H Fafafed # 4 o 918 $Y- I8l 8/5?

I. 3CICT8Y FLOAT GRIAAd fagafl Jad e YRl R Fhdl g |
1. STICTSY BIGINT 16 ST U8l HRdT g |
Options :

1. ¢ $Had |
2. % HAd Il
3. % [ QYT ISl
4. % qEIIATR I

Question Number : 206 Question Id : 275228208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is a part of Data Manipulative Language in Structured Query Language?
Options :

1. ¥ Delete

2. % Alter table

3. % Copy

4. ® Paste

Question Number : 206 Question Id : 275228208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Frafafad # Q& 91 Sy gads B didel § SeT AYafed ofvas o1 e Y 6?2
Options :

1. ¢ f&die

2. % 3} ¢qd

3. % ®Ol

4, % RC

Question Number : 207 Question Id : 275228209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the cardinality and degree of relation having 50 Tuples and 20 Attributes?
Options :

1. # Cardinality — 70 Degree — 30

2. % Cardinality — 20 Degree — 50

3. % Cardinality — 50 Degree — 20

4. ¥ Cardinality — 50 Degree — 50

Question Number : 207 Question Id : 275228209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

50 TUCH YT 20 TIYCH aTat RARM &1 dIfsferd! aut f&ut s g2
Options :

1. % SIfgAferet - 70 f53 - 30

2. % HIfgAferdt - 20 f&3lt - 50

3. ¢ pIfaAfaet - 50 &3l - 20

4. % prfsaferdt - 50 {5t - 50

Question Number : 208 Question Id : 275228210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement(s) is/are correct regarding COUNT functions in Structured Query Language of Relational Database
Management System?

[. COUNT(*) is used to count the number of values in a column.
II. COUNTY() is used to count the number of rows of the query result.

Options :

1. % OnlyI

2. % Only II

3. % BothIand II
4. ¢ Neither I nor II

Question Number : 208 Question Id : 275228210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RaeHa Sy Aoie Red & Wadrs $<1 didsl § COUNT HhaRM & T # FRufafad & § &1 91A w1y 98t 8/8?

I. COUNT(*) BT IUTNT fordft Twd & A1 o1 Gaam e & o fpar S g

II. COUNT() T IUaNT &3} alRumd (Retee) ot dfdadl ot Tem A & fo fear srar g1
Options :

1. % $had |

2. % Had I

3. % [ UGl

4. GBI

Question Number : 209 Question Id : 275228211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the shortcut key for right alignment of the paragraph in a Microsoft Word document?
Options :

l.¥ Ctrl + R

2. % Ctrl + L

3. % Ctl+J



4. % Ctrl+E

Question Number : 209 Question Id : 275228211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AP Is H URTUTH B lfe S B P 7T D T R BT B BT X oIl 672
Options :

l.¥ Ctrl + R

2. % Ctrl+ L

3. % Cul+]J

4. % Curl+ E

Question Number : 210 Question Id : 275228212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Each Microsoft Excel file is also known as
Options :

1. * Document

2. ¥ Workbook

3. # Slide

4. % Sheet

Question Number : 210 Question Id : 275228212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS HISH AT Taad HIsd ol =0 H i TS|
Options :

1. % SlagHc

2. ¥ Ghgd

3. % WSS

4. % Qe




Question Number : 211 Question Id : 275228213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the way to break a page in Microsoft Word?
Options :

1. ® Pressing “Ctrl + Page Down”

2. ® Double Clicking at the end of the page

3. ¥ Pressing “Ctrl + Enter”

4. ® Double Clicking at the beginning of the page

Question Number : 211 Question Id : 275228213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AP IS H U i BT aRih] FEfied § 3 & 91 g2
Options :

1. % “Ctrl + Page Down” &I Q&I

2. % Ool o 3 H S foeth Dl

3. ¢ “Ctrl + Enter” &1 &M

4. % U9 o YT U a9 ot BT

Question Number : 212 Question Id : 275228214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Microsoft PowerPoint helps to enhance our presentation with

I. Pictures and charts
II. Sound effect
II1. Tables

Options :

1. % Tand II
2. % Il and III
3. ® Tand III



4. % 1,11 and III

Question Number : 212 Question Id : 275228214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS ITTe UiaRarse & 1Y AR USIeYH &1 GURA & Aee Bl g

1. IRy quT a1cy

1. 913 S Shacd
1. o9

Options :

1. % 1dYT 1

2. ® 11 dUT I
3. % 1dYUT I
4. 1 11 dYTIII

Question Number : 213 Question Id : 275228215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The selected text’s font in Microsoft Word document will on pressing “Ctrl + ]” keys.
Options :

1. ¥ Increase by 1 points

2. # Increase by 2 points

3. % Decrease by 1 points

4. # Decrease by 2 points

Question Number : 213 Question Id : 275228215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIShIHIUE a8 SIagHE H TMd CaRe BT BI "Ctrl + |" BT Bl GoH TR B

Options :
1. ¥ 1 3ih el



2. % 2 3ih del
3. % | 3i® Blel
4, % 2 3 BleT

Question Number : 214 Question Id : 275228216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which key open a Goto window in Microsoft Excel?
Options :

1. % Alt+G

2. % Shift+ G

3. % Tab+G

4. % Ctrl + G

Question Number : 214 Question Id : 275228216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I INTUe TRId H Goto [ &1 &9 Tt &1 Wiad &7
Options :

1. % Alt+G

2. % Shift+ G

3. % Tab+ G

4.9 Ctrl+ G

Question Number : 215 Question Id : 275228217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Microsoft PowerPoint, background image can be added for all the slides by editing which slide?
Options :

1. # First Slide

2. # Last Slide

3. % Any slide



4. % Slide Master

Question Number : 215 Question Id : 275228217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS INTTe iaRurec | fhd Wiss &l TS die UHl Wiisgd & I a6 UTd S 30l & SISl ol Ydhdl /7
Options :

1. ® Ugdll Wes

2. % IR WS

3. % s Mt Wss

4. ¥ RS AR

Question Number : 216 Question Id : 275228218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A collection of web pages is known as
Options :

1. ¥ website

2. # web server

3. % Web world

4. ¥ Web tool

Question Number : 216 Question Id : 275228218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U F TGS FTUHATATIA&I
Options :

1. ¥ 99T

2. % qF IR

3. % J9 a0

4. % 99¢d




Question Number : 217 Question Id : 275228219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is incorrect regarding user-friendly website?
Options :

1. # It should have faster loading time

2. ® It should be easily accessible

3. # It should have browser consistency

4. ¥ 1t should be Cluttered

Question Number : 217 Question Id : 275228219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IoR Thadl! davTze & ey # Fgfafad § 9 & 91 7Tad 82
Options :

1. % YU a9 ST 99Y g1 A1y

2. % g MM Y TR gl d1fgy

3. % 3HH SI3OR I RIS gIHI Mgy

4. ¥ T IS B <MMRT

Question Number : 218 Question Id : 275228220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is false with reference to static website?
Options :

1. #® Same content is loaded everytime the page is loaded

2. # Tt is loaded at a faster speed

3. ¥ Content change at runtime

4. ¥ No interaction

Question Number : 218 Question Id : 275228220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 o ©few dguge & JeH | 7Tad 82
Options :

1. % IR U oIS B IR ¥ e dls gl g
2. % T AWM A AIS BT

3. ¢ e I H R deddl @

4. % BIg SR T8l o

Question Number : 219 Question Id : 275228221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct regarding <title> tag in HTML?

I. This tag always goes outside to the <head= tag.

IT. This tag is used to indicate the title of the webpage.
ITI. It is also used by search engines.

Options :

1. % Tand II

2. % Il and 111

3. % Only II

4. % T 1I and 111

Question Number : 219 Question Id : 275228221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



HTML & <title> 37T & Tt & Tafaf@g & ¥ #i9 OU¥ 399 Tar 222

. TE &I AT <head> T F FEIL T B
I. 37 &7 &7 399RT J9u F ofive & SR == & v o a2
. SHFT 3TART T S Zanr & BFar Frar 2

Options :

1. % 1dUTII
2. ¥ 11 dYT I
3. % Bad 1l

4. % [ 11 dYT I

Question Number : 220 Question Id : 275228222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is tag in HTML?

Options :

1. # It contains the address of the webpage.

2. # It contains the number of nested tags in the page.
3. % It contains information about the webpage.

4. # Tt contains the number of tags in the web page.

Question Number : 220 Question Id : 275228222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTML ¥ ST 18Il 62

Options :

1. % U 99U BT YT g1 6|

2. % SUH U H RS o & GBAT B 6
3. ¢ 3TH 90U & TR F THSRT Bt B



4. % 30 99 O H 7T ot TBAT I B

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 221 Question Id : 275228223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

How many forms can we have on a webpage at the maximum?

Discipline7

12
27522842
0

0

No

No

0

20

No

Discipline7

27522842
1

Online
Mandatory
20

20

20

Yes

1
27522848
Yes



Options :

1. % 1

2.% 5

3.% 10

4. % No limit

Question Number : 221 Question Id : 275228223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

J9US TR AR U {dad foha WiH 81 9ahd g7
Options :

1. %1

2.% 5

3.% 10

4. ¢ T fafie

Question Number : 222 Question Id : 275228224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is image map in HTML?

Options :

1. # It is the backup copy of the image.

2. ¥ It is a special image in which different area point to different locators on the web.
3. % It contains the properties of the image.

4. # It contains the number of pixels in the image.

Question Number : 222 Question Id : 275228224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTML ¥ S8 8 1 57

Options :

1. % g SA P! 9H3AY HIUT B



2. ¢ U8 U foRiy 30 8 forgw fafts &5 99 wR faftre =i &t 3iR ulse #d g
3. % 3OH B I WSS gt 8
4. % 399 Bfd H URd ot T B B

Question Number : 223 Question Id : 275228225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the file formats of graphics?
Options :

1. ® GIF

2. % JPG

3. % PNG

4, ¥ WAV

Question Number : 223 Question Id : 275228225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 5 @ 31 I At 1 BT BIHC ol 82
Options :

1. # GIF

2. % JPG

3. ¥ PNG

4. ¥ WAV

Question Number : 224 Question Id : 275228226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Multiple bits per pixel are used to store an image, then the frame buffer is known as
Options :

1. #® bit map

2. % binary map



3. % pix map

4. # Image map

Question Number : 224 Question Id : 275228226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS Te Bfd B TR HA & e A& oy ufay fea &1 IuanT forar Sirdn 8, 3 % 9% &t & g & SET ST g |
Options :

1. % fgcay

Question Number : 225 Question Id : 275228227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If an image has a height of 4 inches and an aspect ratio of 3 : 2, then what will be the width of the image?
Options :

1. # 3 inches

2. ¥ 6 inches

3. ® 4 inches

4. % 5.5 inches

Question Number : 225 Question Id : 275228227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe fdt ufafera &t $ams 4 397 SR RO 3[Ud 3 : 2 8, o Ufafo &1 IreTE F1 grfl
Options :

1. %359

2.¥ 639

3. % 439



4. % 5539

Question Number : 226 Question Id : 275228228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the resolution of 2 inch % 2 inch image which has 512 x 512 pixels?
Options :

1. # 512 pixels per inch

2. ¥ 256 pixels per inch

3. % 2048 pixels per inch

4. % 128 pixels per inch

Question Number : 226 Question Id : 275228228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

512 x 512 TORIA ATl 2 $9 x 2 59 B SHSA BT ISIYRA T B2
Options :

1. % 52U ufasa

2. ¢ 256 TUd Ufd §9

3. % 2048 U@ Ufd £9

4. % 128 U Ul <4

Question Number : 227 Question Id : 275228229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Memory buffer which stores the image definition is known as
Options :

1. # Pixel Buffer

2. ¥ Frame Buffer

3. # Graphic Buffer

4. % Picture Buffer



Question Number : 227 Question Id : 275228229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TR S 3OS STFRA P 'R FRA e SH FRUA AT B
Options :

1. % Ui I

2. ¢ ThH I

3. % Yifthed THR

4. % TR IBY

Question Number : 228 Question Id : 275228230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Aspect ratio is the ratio of to

Options :

1. ¥ width; height

2. # height; width
3. % diagonal; height
4. # height; diagonal

Question Number : 228 Question Id : 275228230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{Oae 3UTd | &1 U B |

Options :

1. ¢ fagy; g13c

2. ® ET%._C'; ﬁ@:‘q

3. % W,ET%E
4. % gIsC; ST




Question Number : 229 Question Id : 275228231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the system have resolution of 640 x 480, then what is the size of the refresh buffer (in Kilo bytes) if the system store 14 bits per pixel?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 5400 Kilo bytes (approximately)

2. 6400 Kilo bytes (approximately)

3. 4400 Kilo bytes (approximately)

4. 7400 Kilo bytes (approximately)

Question Number : 229 Question Id : 275228231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Reew &1 RSTeg= 640 x 480 8 A, THL TR BT 3MHR (el S15ey ) 31 7 IS Ried vl U 14 foe @R wa18?
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 5400 fobdll STSEH (@ATTH)

2. 6400 fohdl STSEH (@TTH)

3. 4400 Top el TZCH (TTH)

4. 7400 fohal STZCH (@TH)

Question Number : 230 Question Id : 275228232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a type of Network topology?
Options :



1. # Star Network

2. # Ring Network

3. % Hybrid Network
4. ¥ Singleton Network

Question Number : 230 Question Id : 275228232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

75 7 & S 91 Aead cidiel &1 U UHR ol 67
Options :

1. % R Acad

2. % T dcah

3. % gIRfog Aedd

4. ¢ RiTTee Acadh

Question Number : 231 Question Id : 275228233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are true regarding OSI layers in computer networks?

I. The session layer provides means of establishing, maintaining and terminating a session between two end users.
II. Data Link layer sets up a logical path between the source and destination computer of the network.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 231 Question Id : 275228233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HER Acad § 3. TH. 311 Wl $ Fou § Foferiad § § o T/ wu= w8 2



1. 9 TR &I STANTRAI3N & S I B R B, 1T 3G 3R JHTE B BT J1HT U Bl g
11. ST foieh TRd Aeddh & Hid 3R Taed e & o9 Ue difdd Ty R S0l 7

Options :

1. ¥ FHad |
2. % Had Il
3. % [ UGl
4. % 1A

Question Number : 232 Question Id : 275228234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are true regarding Data Communication?

I. Half duplex communication is multidirectional communication.
I1. Full duplex communication is bidirectional communication.

Options :

1. % Only I

2.9 Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 232 Question Id : 275228234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S HIR & FeH H Fafeiiad # Q &1 a1/ HU= 981 6/8?

I. BT SRR TaR Hec [SRERMA JaR g
N . C 2\ .

IL. Hd SRR YR 18 SRR YaR g |

Options :

1. % Had |
2. ¢ BHad Il
3, % [qUT I gHl




4. % BB I

Question Number : 233 Question Id : 275228235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are true regarding switching techniques in Data communication?

L. In circuit switching a dedicated path is identified between the sender and the receiver.
I1. In packet switching each information to be transmitted between sender and receiver is broken down into smaller packets.

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 233 Question Id : 275228235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

01 HaR ¥ i g & gy § Fufeiad & 9 o 918 sy 98l /87

1. e fRafin § tues qut RfieR & o9 te qafid Uy &1 ugae &t il g |
11. Yope Rafi & v dut Reftar & ot Sa1id &t ST arelt U Ja-1 &1 Bic Udbel H faHTord farar ST g1

Options :

1. % FHad |

2. % Had I

3. ¢ 1 qUT I M
4. % qIGIIATR I

Question Number : 234 Question Id : 275228236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If complete graph have ‘n’ nodes, then it will have how many edges?
Options :



Question Number : 234 Question Id : 275228236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g gul 7% & ' 1S &, A1 59 fhan farR g1
Options :

n(n-1)

[ ]




Question Number : 235 Question Id : 275228237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Quicksort algorithm is based on which algorithm design technique?
Options :

1. ¥ Greedy Algorithm

2. # Brute — Force

3. ¥ Divide and Conquer

4. # Dynamic programing

Question Number : 235 Question Id : 275228237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foaare vaniuw foog Taniyw fEog do-ie uR nuid 82
Options :

1. % WSt ereniyw

2. % §¢ B

3. ¥ &8s U8 i

4. % STOATHD T

Question Number : 236 Question Id : 275228238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is false about a B-tree of order M?
Options :

1. % The root has at least two child nodes and at most M child nodes.

The internal nodes except the root have atleast|7M—‘ child nodes.
2

2. %



3. % Leaf nodes are not at the same level.
4. ® A node is full if it has (M — 1) keys.

Question Number : 236 Question Id : 275228238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 237 Question Id : 275228239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of vertices in undirected graph with odd degree is always
Options :

1. ¥ odd number

2. ¥ even number

3. ® zero

4. ® prime number

Question Number : 237 Question Id : 275228239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® foug I=



2.« gH &

3.% Y
4, % YT &

Question Number : 238 Question Id : 275228240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is Not a NP Complete problem?
Options :

1. % The Clique problem

2. * Hamiltonian-Cycle problem

3. ¥ The Travelling Salesman Problem

4. ¥ Shortest Path Problem

Question Number : 238 Question Id : 275228240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g foio UiserH

2. % gAEIMYA-Afehd Ulsed

3. % g1 ¢afelT YeqaH UiserH

4. ¢ Qe 1Y UieTd

Question Number : 239 Question Id : 275228241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct about red-black binary tree?

I. Every node is either red or black.
II. Every leaf node is red.
ITI. When a node is red and both its children are black.



Options :

1. ®¥ Tand II

2. % [, 1 and III
3.9 Tand III

4. #* III and II

Question Number : 239 Question Id : 275228241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % 13U

2. % 1 11U

3. ¢ 1AUTIII
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Question Number : 240 Question Id : 275228242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider a max heap, represented by the array:

23,17,14,6,13,10,1,5

If a value 20 is inserted into this heap, then what will be the new max heap
Options :

1. % 23,17,4,6,13,10, 1, 5, 20

2.9 23,20,14,17,13,10,1,5,6

3. % 23,20,17,14, 13, 10,6, 5, 1

4, % 23,17,20, 14,13, 10, 6, 51



Question Number : 240 Question Id : 275228242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRoft gRT gRITT U Ay g0 R faaR &9

23,17,14,6,13,10,1,5
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Options :

1. % 23,17,4,6, 13, 10, 1, 5, 20

2.9 23,20, 14,17, 13, 10, 1, 5, 6

3. % 23,20, 17, 14, 13, 10, 6, 5, |

4. % 23,17, 20, 14, 13, 10, 6, 51
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Question Number : 241 Question Id : 275228243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Consider the following graph.

What is the weight of minimum spanning tree?
Options :

1. #* 50

2. ¥ 60

3.% 70

4. % 80

Question Number : 241 Question Id : 275228243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 50

2.9 60

3. %70

4. % 80

Question Number : 242 Question Id : 275228244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of LISP Programming Language?
Options :

1. # Language Processing

2. % List Processing

3. #® Least Processing

4. ® Limited Processing

Question Number : 242 Question Id : 275228244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3. % e Ui
4. % fofies Ui

Question Number : 243 Question Id : 275228245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of FOPL in aritficial intelligence?
Options :

1. ¥ First order predicate logic

2. # File open predicate logic

3. % First operator performance logic

4. # File operator perforate logic

Question Number : 243 Question Id : 275228245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 244 Question Id : 275228246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
act as a interface between a domain expert and an expert system.
Options :
1. # Language Editor
2. ® K editor
3. ¥ Intelligent editor



4. ¥ Knowledge Editor

Question Number : 244 Question Id : 275228246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % o1ae UfeeRr

2. % K TSR

3. ¥ gediivic TfeeR

4. % e TSR

Question Number : 245 Question Id : 275228247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Express the given statement in FOPL?

Statement: Any two numbers can be added together.
Options :

| & @)AEy(V2) (x+y=2)

, x (WA (V2) (X +y=2)

\ v (O (¥y) @) (x +y =2)

4 % (Hx) (Vy)(dz) (x +y = z)

Question Number : 245 Question Id : 275228247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



QU 70 HYF 1 T, 371.41.0d H ogad 2
HY: frgl 41 T3 &) Th 1Y ST o ol 7|

Options :
L% @E (V) (X +y=2)

, x (WA (V) (X +y=2)
; v (V) E) (x+y=12)

4 % @)(Vy)E2) (X Ty=2)

Question Number : 246 Question Id : 275228248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct sequence in Pattern Recognition process?
Options :

1. ¢ Data Acquisition, Feature Extraction, Matching, Classification

2. % Feature Extraction, Data Acquisition, Matching, Classification

3. # Data Acquisition, Feature Extraction, Classification, Matching

4. ® Matching, Data Acquisition, Feature Extraction, Classification

Question Number : 246 Question Id : 275228248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4. % TR, STCT UHIOIRM, BHaR TRICHRH, FaTIth bR

Question Number : 247 Question Id : 275228249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is an act of disguising a communication from an unknown source as being a trusted source.
Options :
1. ¥ Spoofing
2. % Bullying
3. % Stealing
4. ¥ Sandboxing

Question Number : 247 Question Id : 275228249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¢ Hfth
2. % gasT
3. % Hife
4. % HESRIT

Question Number : 248 Question Id : 275228250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a way of providing control execution environment for extracted programs.
Options :
1. ¥ Sandboxing
2. % Spoofing
3. # Honeypot
4. # Paycods



Question Number : 248 Question Id : 275228250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRSFES URIH & fore fedzron fAsare T aTdTaRr Ue™ R &1 U avidl g |
Options :
1. ¢ SR
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Question Number : 249 Question Id : 275228251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the other name of software updates?
Options :

1. ¥ Patching

2. # Dropping

3. % Gaining

4. # Sandboxing

Question Number : 249 Question Id : 275228251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR 3UST BT ORI ATH FT 82
Options :

1. ¢ O

2. % ZIuft

3. % T

4. % HSSRT



Question Number : 250 Question Id : 275228252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are Honeypot systems?

Options :

1. ¥ They are decoy system to attract attackers in order to learn their tactics
2. # They are antivirus programs and act as a firewall

3. # They are computer hardware having pre installed antivirus programs

4. % Tt is the other name of distributed systems

Question Number : 250 Question Id : 275228252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ I8 SHATRI DI BT HR & 3! UM FRa= & o T Feveit Tomen &
2. % 3 TR UHITH § IR BRRAIT & 30 H B0 Hd o
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Question Number : 251 Question Id : 275228253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an element of Database?
Options :

1. % Schema

2. % Relationships

3. % Constraints

4. ¥ FRONTEND

Question Number : 251 Question Id : 275228253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® Bl

2. % R

3. % hcH

4. hcls

Question Number : 252 Question Id : 275228254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct regarding single row functions in structured query language?

I. INSERT() is a numeric function.
II. ROUND() is a numeric function.
II. LENGTH() is a character function.

Options :

1. # Both I and II
2. % Both II and III
3. % Only III

4. % Both I and III

Question Number : 252 Question Id : 275228254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3. % Had Il
4. % 1Y I S

Question Number : 253 Question Id : 275228255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is self join in Database Management System?
Options :

1. # In a self join, a table is joined to a number

2. ¥ In a self-join, a table is joined to itself

3. % In a self join, a table is joined with a query

4. # In a self-join, two databases are joined

Question Number : 253 Question Id : 275228255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 254 Question Id : 275228256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many entities are associated in the quaternary relationship in E — R modelling?
Options :

1. %2

2. %3

3.¥ 4



4. %5

Question Number : 254 Question Id : 275228256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %2

2.% 3

3.¥°4

4. %5

Question Number : 255 Question Id : 275228257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is NOT a part of the ACID properties of database transaction?
Options :

1. % Atomicity

2. % Consistency

3. ¢ Instance

4. # Durability

Question Number : 255 Question Id : 275228257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TeH3IRS

2. % DR

3. ¥

4. % SYRfQferdt



Question Number : 256 Question Id : 275228258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Structured Query Language, what is the GROUP BY clause?

Options :

1. # It groups the table with same name in the database.

2. ¥ It groups the rows together that contain the same values in a specific column.
3. # It combines data from two tables on specific conditions.

4. ® Tt groups the columns together that contains the same values in a specific rows.

Question Number : 256 Question Id : 275228258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 257 Question Id : 275228259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is Not a database model?
Options :

1. ¥ Network

2. ® Relational

3. # Object-oriented

4. ¥ Inheritence model

Question Number : 257 Question Id : 275228259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

|. % Jcad

2. % Ra=Ad

3. % 3fieolge-3AiRUcs

4. ¥ SRS ATSd

Question Number : 258 Question Id : 275228260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct regarding Data Dictionary in Database Management System?

I. Data Dictionary is a collection of definitions, rules and advisories of data designed to be used as a reference with the data warehouse.
II. Data Dictionary is the area of memory allocated for data storage.

Options :

1. % Only I

2. % Only II

3. % BothIand IT
4. # Neither I nor II

Question Number : 258 Question Id : 275228260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 259 Question Id : 275228261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the full form of SSL in web development?
Options :

1. ¥ Secure Sockets Layer

2. ® Secure Server Layout

3. % Security Socket Layout

4. ® Secure Server Layer

Question Number : 259 Question Id : 275228261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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2. % YRR R 33T

3. % Ry Hidbe demase

4. % RARIR IR AR

Question Number : 260 Question Id : 275228262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is Customer Relationship Management?
Options :

1. ¥ Customer relationship management includes the methodologies, technology and capabilities that help an enterprise to manage customer
relationships.

2. # Customer relationship management is a corporate level strategy which focuses on creating new customers.

3. % Customer relationship management is the process of planning, implementation and controlling the operations of the supply chain.



4. ® Customer relationship management is the process of daily production and distribution.

Question Number : 260 Question Id : 275228262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 261 Question Id : 275228263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are true regarding cryptography?

I. Cipher text is encrypted text transformed from plain text using an encryption algorithm.
II. According to Kerchoff’s principle, all algorithms must be private and only the keys are secret.

Options :

1. ¥ Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II

Question Number : 261 Question Id : 275228263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 262 Question Id : 275228264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a Cipher mode in Cryptography?
Options :

1. # Electronic Code Book Mode

2. % Cipher Feedback Mode

3. % Stem Cipher Mode

4. % Cipher Block Chaining Mode

Question Number : 262 Question Id : 275228264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 263 Question Id : 275228265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
computing is a model in which components of a software system are shared among multiple computers.
Options :
1. ¥ Distributed
2. ®% Abstraction
3. ® Private

4. % Simulation

Question Number : 263 Question Id : 275228265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ fSfesges
2. #® AR
3. % Urgde

4. % fygeiRH

Question Number : 264 Question Id : 275228266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a example of Distributive computing?
Options :

1. % LAN network

2. % Mobile network

3. % Parallel computing

4. * Internet

Question Number : 264 Question Id : 275228266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % g9 9cdd
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3. ¢ Red HUGAT
4. % ge3AC

Question Number : 265 Question Id : 275228267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is not an example of Simulation and Modeling?
Options :

1. ® Video game

2. % Computer table

3. # Logical gates

4. % Flight simulator

Question Number : 265 Question Id : 275228267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 266 Question Id : 275228268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is an imitation of the dynamics of a real world process or system over time.
Options :
1. # Designing
2. # Cryptography
3. % Simulation

4. # Copying

Question Number : 266 Question Id : 275228268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 267 Question Id : 275228269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is a neuron in Neural Networks?

Options :

1. ¥ A neuron is a small cell that receives electrochemical signals from various sources and transmit electrical impulses to other neurons.
2. % A neuron is a cell that send electromagnetic signals to axons.

3. # A neuron is a small cell that sends electric impulses to ions.

4. ® A neuron is a cell which has the capability to predict the situation from past trends.

Question Number : 267 Question Id : 275228269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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What is axon in Neural Networks?
Options :

1. ¥ It is a long cylindrical connection that carries impulses from the neurons.



2. % Itis a small cell used to perform basic logical operations.
3. % Itis a small cell which contain electric signal.

4. % Ttis a collection of neurons.
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is loosely coupled system and is tightly coupled system.
Options :
1. # Distributed processing; Uniprocessing
2. # Batch processing; Parallel processing
3. ¥ Distributed processing; Parallel processing

4. ® Uniprocessing; Real Processing
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What is the full form of MISD?

Options :

1. ¥ Multiple Interrupt stream and Single Data stream
2. ¥ Multiple Instruction stream and single Data stream
3. # Many Interrupt stream and single digital stream

4. # Many Instruction stream and Single Digital stream
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Which of the following is NOT a Data MINING technique?
Options :

1. # Link Analysis

2. ® Database Segmentation

3. # Predictive Modeling



4. % Evaluation
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Which of the following is NOT a Data MINING Language?
Options :

1. # R. Language

2. % Weka

3. % Python

4. ¥ BASIC
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol § 3 o @ srer A oty 98 82
Options :

1. % R.cfraol

2. % dop]

3. % UIgYd

4. dfH



Question Number : 273 Question Id : 275228275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sending incoming packet to every outgoing line except the one it arrived is known as
Options :

1. # congestion

2. % scratching

3. ¥ flooding

4. # message calling
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The frequency which is used for transmission of signal from the satellite to earth station receive is known as
Options :

1. % uplink frequency

2. # backlink frequency

3. # forward link frequency

4. ¥ downlink frequency

Question Number : 274 Question Id : 275228276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Routing algorithm which do not base their routing decisions on measurements or estimates of the current traffic and topology belongs to which
category?

Options :

1. # Adaptive algorithm

2. # Greedy algorithm

3. % Back propagation algorithm

4. ¥ Non-adaptive algorithm
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Runge — Kutta method is used for
Options :

1. # integration

2. % root finding

3. ¥ ordinary differential equation

4. # solution of system of linear equation
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Newton — Raphson method is used to compute a root of the equation X2+ 4x —9 = 0 with 1 as the initial value. The approximate value after one
iteration is

Options :

1. ¥ 1.571
2. % 0.429
3. % 1.528
4. % 1429
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Options :
1. ¥ 1.571
2. % 0.429
3. % 1.528
4, % 1.429
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is the science of computers dealing with languages?
Options :
1. # Distributed computing
2. % Machine language
3. # Assembly Language

4. ¥ Computational linguistics
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An image may be defined as a 2-dimmensional function f(x, y) where x and y are and the amplitude of the function is called of
the image at the point (x, y)

Options :

1. * intensity; coordinates
2. % intensity; brightness
3. ¥ coordinates; intensity

4. % brightness; coordinates
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The process which digitized amplitude value of the image during digital conversion of an image is known as
Options :

1. # sampling

2. ¥ Quantization

3. # filtering

4, % extraction
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Question Number : 281 Question Id : 275228283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Preparing any project in science/mathematics may give pleasure to the pupil as result of which he/she is motivated to undertake similar activities
on his/her own.” This given statement describes which of the following type(s) of motivation?

I. Intrinsic Motivation
1. Extrinsic Motivation

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II
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Which of the following statement(s) is/are not correct?



I. Conditioning of elicited behaviours defines classical conditioning.
II. Conditioning of emitted behaviours defines operant conditioning.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II
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Which of the following is/are those medium(s) by which value education can be provided to the students?

I. Skits and Dramas
II. Morning Assembly
1. Compulsory Subject

Options :
1. # II and III
2. % Only III



3. ® Tand II
4. 1,11 and 111
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and are planned and organized for improving the power of thinking.

Options :

1. ® Curriculum; instructions
2. % Charts; teaching

3. ¥ Teaching; instruction

4. % Evaluation; instructions
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Which of the following is not a assistive device used for children with Visual Impairment?
Options :

1. # Braille

2. ¥ Hearing aid

3. % Arithmetic Frames

4. % Abacus
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Ideas for dramas may come from which of the following sources?

I. The imagination
II. The environment



III. History/Literature
IV. Movies

Options :

1. # II, Il and IV
2. % Jand IV

3. # Il and IV

4. ¢ 11, 1l and IV
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If a teacher is teaching topic ‘Forts’ to the students, then a teacher can perform introductory activities by making documentation cards indicating
which of the following?

I. Name of Historical buildings.
II. Drawing of unique architectural features of the building such as pillars/domes etc.

Options :
1. % Only I



2. % Only II
3.4 BothIand II
4. % Neither [ nor 11

Question Number : 287 Question Id : 275228289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe HYS e B B forar fawe ugT XeT 7, @ v Rieres Fuforfad & 3 frg &} 3R Udhd 3 §T I ST §1a RS
Tfafaferal s Ted 8/8?

1. UfagTRies SARdI & A |
I1. Yo &1 ffgdia argeran faRiarsit o WHiAfse) 3fe &t Raifed HRT|

Options :

1. % Had 1

2. % Had Il

3. ¢ 1 AU Gl
4. % GBI

Question Number : 288 Question Id : 275228290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are not correct about ‘Facilitation’ in art education?

I. Helping the child by giving free access to handling musical instruments with a caution for care.
II. Providing lot of art material for helping the child to choose and pick and innovate.

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. ¥ Neither I nor II
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Which of the following is/are not the method(s) of assessment in Language Learning?

I. Oral Test
II. Written Test

Options :

l. % Only I

2. % Only II

3. # BothIand II
4. ¢ Neither I nor II
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While teaching a children how to read, which of the following things need to be kept in mind?

I. The material used must be meaningful and of the level of the child.
II. The material should be in a language that the child is familiar with.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. # Neither I nor II

Question Number : 290 Question Id : 275228292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 &l UoH @ 99y Fafefad 7 © foo a1l &1 e 1941 91ied?

. JTART &1 ST arelt ATt Sidqul a1 9= o Wk &1 gi-il e
1. I 3 YIS H g1 =T fored sr=m uikferd 8|

Options :

1. % Hadl

2. % Had Il

3. ¢ 1 qUT I
4. % qIEIIATR I

Question Number : 291 Question Id : 275228293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the role(s) of teachers in the Theme Based Integrated Early Childhood and Care Education Programme?

I. Observe children to identify their interests, needs and capabilities and the pace of their development.
II. Create nurturing and positive relationships in the classroom.

Options :

1. * OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II
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Which of the following is/are the major type(s) of play for a child?

I. Constructive play
II. Functional play
I11. Dramatic or pretend play

Options :
1. * Tand III



2. % T and I1I
3. % Only III
4. ¢ 1, and II
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Which of the following Pre — number concept(s) can be developed in children during the pre school years?

I. Matching
II. Sorting
1. Comparing

Options :

1. # Iand III

2. % Tand II

3. % Only I

4. % 1,11 and III
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In which stage of cognitive development of Piaget’s theory, a child understands and carry out calculations involving proportions?
Options :

1. # Pre — operation Period

2. # Concrete Operation Period

3. % Formal Operation Period

4. # Sensory Motor Period
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‘When we study history, then we study the history of many other social science subjects like economic history, political history, history of
psychology etc’.
This statement given above shows that social science subjects are in nature.

I. independent
II. interdisciplinary
II1. interrelated

Options :

1. # Tand III
2. % Only I
3. % Only III
4. ¥ I and 11T
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Which of the following can help a teacher to make teaching — learning process participatory in social science?

I. By arranging debate, discussions on emerging social issues for example: dowry, population growth etc.
II. By teaching students that how to cooperate with each other.

Options :

1. ® Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II
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Scientific argument involves three components. Which of the following are these components?

I. Hypothesis



II. Predictions
II1. The evidence

Options :

1. # Tand III

2. % Il and III
3. % Tand II

4. % 1, 1I and III

Question Number : 297 Question Id : 275228299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 298 Question Id : 275228300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
addresses to the principle that knowledge arises from experience and evidence gathered specifically using senses.

I. Skepticism

II. Empiricism
Options :

1. % Only I

2. % Only II

3. % Both I and II



4. % Neither I nor 11

Question Number : 298 Question Id : 275228300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % Had
2. ¥ Had Il
3. % [ UGl
4. % qGIIATR I

Question Number : 299 Question Id : 275228301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The syllabus of Environment studies for class Il to V is woven around the 6 interconnected themes. Which of the following is/are among those
themes?

I. Shelter
II. Water
II1. Food

Options :

1. * Tand III

2. % Iland III
3. * Only I
4.+ 1, 1I and 111

Question Number : 299 Question Id : 275228301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [dUT I

2. % I dYUTIII
3. % had I
4. 1 11 dYT 1T

Question Number : 300 Question Id : 275228302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the instructional objective(s) of mathematics?

I. To apply addition of two digit numbers in solving problems of daily life.
II. To apply formula of direct variable to solve simple problems of day to day life.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 300 Question Id : 275228302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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